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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 210529303
Question Shuffling Allowed : Yes

Question Id : 2105297939 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension

Based on the data in the table, answer the questions that follow

The following table embodies the details about the students of the different departments' A, B
and C in a University for participating in the blood donation camp.

Participation in Blood Donation Camp - Data

Percentage| Percentage of blood | Number of blood

Department of Girls donatingGirls* donating Boys*
A 25% 40% 48
B 40% 50% 75
30% 70% 39

* - out of total blood donors

Sub questions

Question Number : 1 Question Id : 2105297940 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In case all the girls in the department 'A’ donated blood, then the number of boys in the
department ‘A’ who did not participate in the blood donation camp is

Options :

21052931201. 1
21052931202. 2
21052931203. 3

21052931204. 4

Question Number : 2 Question Id : 2105297941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who donated blood in the department 'C' is
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Options :

21052931205. 1
21052931206. 2
21052931207. 3
21052931208. 4

Question Number : 3 Question Id : 2105297942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The number of girls in the department "A’ who donated blood is

1. 32
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Options :

210529312009. 1
21052931210. 2
21052931211.3
21052931212. 4

Question Number : 4 Question Id : 2105297943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 45 boys from the department 'B' did not donate blood, then the total number of students in
the department 'B' is

1.120
2. 150
3. 80

4. 200

Options :

21052931213. 1
21052931214. 2
21052931215.3

21052931216. 4

Question Number : 5 Question Id : 2105297944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of blood donors in the department ‘A’ compared to the

number of blood donors in 'B'?

1. 1:5
2. 2:5
3.9:16
4.815

Options :

21052931217. 1
21052931218. 2
21052931219.3
21052931220. 4

Question Id : 2105297939 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension
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A | 25% 40% 48

B 40% 50% 75

C 30% 70% 39
* . o Ladaldie 4 9

Sub questions

Question Number : 1 Question Id : 2105297940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931201. 1
21052931202. 2
21052931203. 3

21052931204. 4

Question Number : 2 Question Id : 2105297941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931205. 1
21052931206. 2
21052931207. 3

21052931208. 4

Question Number : 3 Question Id : 2105297942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

210529312009. 1
21052931210. 2
21052931211.3

21052931212. 4

Question Number : 4 Question Id : 2105297943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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. 120
2. 150
3. 80
4, 200

Options :

21052931213. 1
21052931214. 2
21052931215.3

21052931216. 4

Question Number : 5 Question Id : 2105297944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.1:5
2.2:5
3.9:16
4.8:15

Options :

21052931217. 1
21052931218. 2
21052931219. 3
21052931220. 4

Sub-Section Number : 2
Sub-Section Id : 210529304
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105297945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If your students are identified as 'Unable but willing' in terms of their performance readiness
level, which of the following methods of teaching will be considered appropriate to deal with

them?

1. Giving challenging tasks during teaching

2. Providing scope for sharing responsibility and recognition

3. Mentoring and guiding with close supervision

4. Small step presentations with error free tasks and frequent reinforcement

Options :

21052931221. 1
21052931222. 2
21052931223.3

21052931224. 4

Question Number : 6 Question Id : 2105297945 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931221.1
21052931222. 2
21052931223. 3

21052931224. 4

Question Number : 7 Question Id : 2105297946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dentify from the following list of competencies of teaching, those which are related to
personality and attitude

A. Managing

B. Monitoring

C. Locus of control

D. Planning

E. Self-efficacy

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4. Cand E only

Options :



21052931225.1
21052931226. 2
21052931227. 3

21052931228. 4

Question Number : 7 Question Id : 2105297946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931225. 1
21052931226. 2
21052931227. 3
21052931228. 4

Question Number : 8 Question Id : 2105297947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List I

Assessment and Test L.

. . Description

interpretation methods

A. Formative assessment |. The test data help us to determine a student’s rank

) |Il. The test data tell us about a student's level of
B. Summative assessment .
proficiency

) lIl. The intention in the evaluation is to identify scope for
C. Norm-referenced testing ]
improvement

o , . V. Evaluation is in the form of judgment to be used for at
D. Criterion-referencing testing

least immediate future

Choose the correct answer from the options given below:

TA-LB-ILC-N,D-1IV
2A-NILB-IV,C-1,D-I
3A-IVB-IILC-IL,D-I
4 A-1,B-1,C-IV,D-1Il

Options :

21052931229. 1
21052931230. 2
21052931231.3

21052931232. 4

Question Number : 8 Question Id : 2105297947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1ILC-1LD-IV
ZA-NLB-IV,C-I,D-I
3JA-IV,B-UILC-1,D-1
4 A-1LB-1C-IV,D-1l

Options:

21052931229. 1
21052931230. 2
21052931231.3

21052931232. 4

Question Number : 9 Question Id : 2105297948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: ICT based 'teaching support system' has the potential to optimize learning

outcomes

Statement II: Recent research have reported that factors relating to social competence
contribute more to learning than mere cognitive intelligence does

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options:

21052931233. 1
21052931234. 2
21052931235.3

21052931236. 4

Question Number : 9 Question Id : 2105297948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931233.1



21052931234. 2
21052931235. 3
21052931236. 4

Question Number : 10 Question Id : 2105297949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A university teacher proposes a research project on ‘why parents are apathetic to the
university programmes’. Which of the following research methods will be most appropriate for

the project?

1. Experimental method

2. Historical method

3. Participant-observation method
4. Ex post facto method

Options :

21052931237. 1
21052931238. 2
21052931239. 3

21052931240. 4

Question Number : 10 Question Id : 2105297949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052931237.1
21052931238. 2
21052931239. 3

21052931240. 4

Question Number : 11 Question Id : 2105297950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which level of teaching there is optimum scope for cognitive interchange requiring analysis

and synthesis?

1. Memory level teaching

2. Understanding level teaching

3. Reflective level teaching

4. Autonomous development level teaching

Options :

21052931241. 1
21052931242. 2
21052931243.3

21052931244. 4

Question Number : 11 Question Id : 2105297950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931241.1



21052931242. 2
21052931243. 3

21052931244. 4

Question Number : 12 Question Id : 2105297951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Reliability is a necessary but insufficient condition for validity aspect of a research

tool

Statement II: Validity is threatened when a test measures only the construct it is designed to

measure in a research

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is carrect

Options :

21052931245. 1
21052931246. 2
21052931247.3
21052931248. 4

Question Number : 12 Question Id : 2105297951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HYA-1 - forddt 2y Iueeur | faya-igal U Haead U §, dic qudl & fog Taid -l g

TYA-11: Ty T 79 IS WIS $Had 3 [GRIY SUGT! & A Bl & ford ATy
SYBHITd BT & O T80 B 3UdT I W il o

S B b e i P R 4 8 o SuE IR

1. @Y | 3R 11 G T B

2. U | R 11 & Rl TR g

3. @Y1 Tl 6, fobeq DYH-11 T8I 81 5
4, BY-1 TE! T8l &, fobeg BY-11 e ¢

Options:

21052931245. 1
21052931246. 2
21052931247.3

21052931248. 4

Question Number : 13 Question Id : 2105297952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the features of scientific method from the following list
A. Clearly defined variables and procedures

B. Empirically verifiable hypotheses

C. Little or no scope for self correction

D. Linguistic justification of conclusions

E. Ability to rule out rival hypotheses

Choose the correct answer from the options given below:

1. A, B and E only
2.B, Cand D only
3.C, D and E only
4. B, D and E only

Options :



21052931249.1
21052931250. 2
21052931251. 3

21052931252. 4

Question Number : 13 Question Id : 2105297952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931249.1
21052931250. 2
21052931251. 3
21052931252. 4

Question Number : 14 Question Id : 2105297953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the point of view of research ethics which of the following is least vulnerable in research?

1. Problem-formulation and identifying the variables involved
2. Data analysis and interpretation

3. Reporting of research result and their implications

4. Citing a theory in support of one's thesis

Options :

21052931253. 1
21052931254, 2
21052931255. 3
21052931256. 4

Question Number : 14 Question Id : 2105297953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931253. 1
21052931254. 2
21052931255. 3

21052931256. 4

Question Number : 15 Question Id : 2105297954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling methods in research are non-probability based?
A. Cluster sampling method

B. Dimensional sampling method

C. Random sampling method

D. judgement sampling method

E. Snowball sampling method

Choose the correct answer from the options given below:

1. B, C and D only
2. A, Band Conly
3.B, D and E only
4.C, D and E only

Options :

21052931257. 1
21052931258. 2
21052931259. 3

21052931260. 4

Question Number : 15 Question Id : 2105297954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd B, C 3R D
2. ®HAAA, BARC
3. ®adB, D 3R E
4.HaAC, D 3ARE

Options :

21052931257.1
21052931258. 2
21052931259. 3

21052931260. 4

Question Number : 16 Question Id : 2105297955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Communication stimuli used to convey the message are known as

1. Process
2. Power
3. Channel
4, Codes

Options :

21052931261. 1
21052931262. 2
21052931263. 3

21052931264. 4



Question Number : 16 Question Id : 2105297955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931261. 1
21052931262. 2
21052931263. 3

21052931264. 4

Question Number : 17 Question Id : 2105297956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Communication activities of learners fall into domains consisting of
A. Perception

B. Groupism

C. Inter-personal skills

D. Regressive behavior

E. Inter-personal relations

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3. A, Cand D only
4. A, Dand E only

Options :



21052931265. 1
21052931266. 2
21052931267. 3

21052931268. 4

Question Number : 17 Question Id : 2105297956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931265. 1
21052931266. 2
21052931267.3
21052931268. 4

Question Number : 18 Question Id : 2105297957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: New media enhance the opportunities to expand the learning environment

unheard of before
Reason R: Learners can design their own learning process

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options:

21052931269. 1
21052931270. 2
21052931271.3

21052931272. 4

Question Number : 18 Question Id : 2105297957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052931270. 2
21052931271. 3

21052931272. 4

Question Number : 19 Question Id : 2105297958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequence of elements in linear model of communication is
A. Message

B. Decoder

C. Encoder

D. Medium

E. Noise

Choose the correct answer from the options given below

1.A CBED
2B D CAE
3CADEEB
.D.EEC A B

o

Options :

21052931273. 1
21052931274. 2
21052931275. 3

21052931276. 4

Question Number : 19 Question Id : 2105297958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YR & D UIaH H el BT HTHH ¢ -
A o=

2. fadddm

C. Ghad

D. 71
U

i<l fGu U fasedl & ¥ 98l SR g

1.A CBED
2B D CAE
3CADEEB
4D ECAEB

Options :

21052931273. 1
21052931274. 2
21052931275. 3

21052931276. 4

Question Number : 20 Question Id : 2105297959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1

List | List Il
A. Poor listeners . Scold others
B. Aggressive listeners II. Easily agree with the speaker

L lIl. Listen to ideas not understanding emotions
C. Positive listener

D. Pseudo-intellectual listeners ) ,
V. Fidget compulsively

Choose the correct answer from the options given below:

TA-LB-1ILC-1LD-IV
ZA-1L,B-,C-1V,D-1
JA-NLB-IV,C-,D-1
4 A-IVB-1LC-1LD-1I

Options:

21052931277. 1
21052931278. 2
21052931279.3

21052931280. 4

Question Number : 20 Question Id : 2105297959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gi-1 &I gi-1n U gHferd Sifo

-1 Tl- 11

A. & ia . 30 B S &

B. ST HIdl 1. 3T T gad1 & 91y GeHd 8id &

c A=y g 1. HIGTTT TR 96 9 SR [GaRi &l gd 8
D. B Slfa® oidl  |Iv. PR Tad® AdeR Uaiid $d g
- feu e fapenl & € W8 SR 9T

TA-LE-IL,C-ILD-1V
2A-ILB-ILC-1V,D-|
3A-ILBE-IV,C-1,D-1I
4A-IVB-LC-1ILD-1

Options :



21052931277.1
21052931278. 2
21052931279. 3

21052931280. 4

Question Number : 21 Question Id : 2105297960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Atrain is travelling at a speed of 96 kilometres per hour. It takes 3 seconds to enter a tunnel
and 30 seconds more to pass through it completely. Which of the following statements are
correct?

A. Length of the tunnel is 100 meters

B. Tunnel is longer than train

C. Train is longer than tunnel

D. Length of the train is 80 meters

E. Length of the tunnel in 800 meters

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and B only
3.Cand D only
4.B, D and E only

Options :

21052931281. 1
21052931282. 2
21052931283.3
21052931284. 4

Question Number : 21 Question Id : 2105297960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

U <o Wi el 96 fbeiiHieR @ 71fd ¥ =il 5| 96 U G H Yo &3 H 3 YbUS oiliell
AR IS Il TRe UR dA H 30 Yahvs 3R il 2 | FAufaiad O 4 T oY Gel & 2

A G &1 T 100 HIET 5

B. QOIS @1 qaT | i ofell |
C. XTI G ¥ Hf3fdh il 31

D. XTSI DI TdTg 80 Hiex &

£ QU 1 el 800 HieX
- feu v faseul § @ T8 I gAT:

1.®aAA, C3HRD
2. Had A 3R B
3.%ad C AR D
4,530 B, D IARE

Options:

21052931281. 1
21052931282. 2
21052931283.3

21052931284. 4

Question Number : 22 Question Id : 2105297961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference between the ages of two men is 10 years. 15 years ago, the elder one was twice
as old as the younger one. The present age of the elder man is

1. 25 years
2. 35 years
3. 45 years
4. 40 years

Options :
21052931285. 1



21052931286. 2
21052931287. 3

21052931288. 4

Question Number : 22 Question Id : 2105297961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&I odfderdl & 9 H 10 HIc 1 3R 21 15 9Idl Ugdl oUg aicd &1 35 dHY § G 41 dl daAF

Ty AfGd DI SH TN ?
1.25 9

3

PR

223

P
P

Options :

21052931285. 1
21052931286. 2
21052931287. 3
21052931288. 4

Question Number : 23 Question Id : 2105297962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List Il
For two numbers 84 and 96 [Result
AL HCF . 672
B. LCM 1. 8064
C. Product 1I. 180
D. Sum V.12

Choose the correct answer from the options given below:

TA-1L,LB-IV,C-1ID-Il
2ZA-1,B-IV,C-I,D-1l
SA-ILB-IV,C-1,D-1
4 A-IV,B-1,C-1I,D-1l

Options:

21052931289. 1
21052931290. 2
21052931291.3

21052931292. 4

Question Number : 23 Question Id : 2105297962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol @3l 84 3R 96 & o0 Gl-1 &I G-l H f&d e uRom 9 gafed ik -

gal-| gl-1l

A TI T TH . 672

B. T 91 TH II. 8064
C. UHGd I1I. 180
D. I V. 12

AT feu TTu fasedi ¥ U8l 3R g :

TA-1LB-IV,C-1I,D-I
ZA-1L,B-IV,C-I,D-1
SA-ILB-IV,C-1,D-1
4 A-IV,B-1,C-1I,D-1l

Options :



21052931289. 1
21052931290. 2
21052931291. 3

21052931292. 4

Question Number : 24 Question Id : 2105297963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: A number is divisible by 25, if the number formed by its last two digits is either
(00) or divisible by (25)

Statement II: A number is divisible by 16, if the number formed by its last 4 digits is divisible
by 16

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052931293. 1
21052931294. 2
21052931295. 3
21052931296. 4

Question Number : 24 Question Id : 2105297963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d & HY [GU U § -

Y- - TP &A1 25 GRI faUTe €, 416 59 9% & Jifad &l 3@ (00) 1 (25) § =g 21

?F{-u:wﬁwmmﬁw%ﬂ%@ﬂw%aﬁmmmwﬁmmﬁw
|

SR BYAT & el A Fgifehd [dbeul 9 §g I I -

1. B | R 1 ST TR B

2. B | 3R 1| &HI Tad B

3. ®YH-1 9 &, fooeg Y- TTad &
4, BY-1 39 ©, T HU-11 el B

Options:

21052931293. 1
21052931294. 2
21052931295. 3

21052931296. 4

Question Number : 25 Question Id : 2105297964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List Il

A. Triangle Area . Base x hight

B. Square Area Il. 1/2 x (Product of diagonals)
C. Ehombus Area lll. 1/2 x Base x Height

D. Parallelogram Area V. (Side)?

Choose the correct answer from the options given below:

TA-ILE-IV,C-,D-1
ZA-NLBE-IV,C-1,D-1
SA-NLE-IV,C-1,D-1
4A-1LB-N,C-L,D-IV

Options :
21052931297. 1

21052931298. 2



21052931299. 3
21052931300. 4

Question Number : 25 Question Id : 2105297964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gil-1 Bl Gail-1l W GHd Bifere :

gl-| G-Il

A. BrS &1 gama . SR x $als

B. 911 &S 1. 1/2 x (AT &1 oHE)
C. §HAqHA @1 &%d 1. 1/2 x TR x Has

D. MR Igysl &1 &A% V. (35T)2

< f&u e fgdedl @ 98l SR g

TLA-ILB-IV,C-1,D-1l
2A-ILB-IV,C-1I,D-|I
S3A-ILB-IV,C-1,D-1I
4A-ILB-LC-1,D-1IV

Options :

21052931297. 1
21052931298. 2
21052931299. 3

21052931300. 4

Question Number : 26 Question Id : 2105297965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



All flowers are toys. Some toys are trees. Some butterflies are trees, then
A. No butterfly is flower

B. Some butterflies are toys

C. Some toys are flowers

D. Some trees are flowers

E. Some trees are butterflies

Choose the correct answer from the options given below:

1. A and B only
2. C and E only
3.B and E only
4. B and D only

Options :

21052931301. 1
21052931302. 2
21052931303. 3

21052931304. 4

Question Number : 26 Question Id : 2105297965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it qu faaH €1 oo fadi- gef €1 oo fadfemi qar g dr
A. B3 off el g T B

B. $o faaferdi RacH Bl

C. % Rl g g

D. % & JH 5|

E. © g4 faaferi g

AT fgu v famedl H 9 wel I g :

1. Had A 3R B
2. ®Had C 3R E
3. ®HadB AR E
4. HAAB 3R D

Options :

21052931301. 1
21052931302. 2
21052931303. 3

21052931304. 4

Question Number : 27 Question Id : 2105297966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Wherever there is smoke, there is fire.

There is smoke in Mr Verma's chamber.

There must be fire in Mr Verma's chamber.”

In accordance with Indian logic, this is an example of

1. Pratyaksha pramana (Perception)
2. Upmana (Comparison)

3. Hetvabhasa (Fallacy)

4. Vyapti (Invariable relations)

Options :



21052931305. 1
21052931306. 2
21052931307. 3

21052931308. 4

Question Number : 27 Question Id : 2105297966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
' Sfgl BEl Y3 €, gl A B

o Al & D& H i g

41 381 & e F 4 g =Ry -

YR dhRId & 319R Je Hgfafad 4 9 f2

Wd H © fhgd ISIEIv g -

1. Hed& HHIU
edlHd

G|

Options :

A

L

21052931305. 1
21052931306. 2
21052931307. 3

21052931308. 4

Question Number : 28 Question Id : 2105297967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In order to authenticate the environmental values as advocated by our ancestors, a scholar
cites examples from Vedas. The means of knowledge used by him/her in terms of Indian logic

will be called

1. Anumana (inference)

2. Arthapatti ( Implication)

3. Shabda (Verbal testimony)
4. Upamana (Comparison)

Options :

21052931309. 1
21052931310. 2
21052931311.3

21052931312. 4

Question Number : 28 Question Id : 2105297967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

SR Jdoil G G&I TafaRuiig T o W &  fU U el da) 3 SaTeRy 35y
B | YR Tb2Rd B 218 U I8 R TG T B IEH DI H gl ST

1. HFAA
2, YO

3. e
4, JUHH

Options :

210529313009. 1
21052931310. 2
21052931311.3

21052931312. 4

Question Number : 29 Question Id : 2105297968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In the series B, D, H, J, N, P, ... What will come after P?

A

S
R
T

$

Options :

21052931313. 1
21052931314. 2
21052931315. 3
21052931316. 4

Question Number : 29 Question Id : 2105297968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
$@el B, D, H, J, N, P H P & dlg &1 ST 2

A

S
R
T

o+

Options :

21052931313. 1
21052931314. 2
21052931315. 3

21052931316. 4

Question Number : 30 Question Id : 2105297969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If LIGHT is written as GILTH and FIGHT is written as GIFTH, then SIGHT will be written as

1. GISHT
2. GISTH
3. GSITH
4. GSIHT

Options :

21052931317. 1
21052931318. 2
21052931319. 3

21052931320. 4

Question Number : 30 Question Id : 2105297969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IfE LIGHT ®I GILTH & ¥4 H o1 9l & 3R FIGHT @I GIFTH & ¥4 H foRal 911 & 1 SIGHT
@ o ¥ H forar wme 2

1. GISHT
2. GISTH
3. GSITH
4, GSIHT

Options :

21052931317.1
21052931318. 2
21052931319.3

21052931320. 4

Question Number : 31 Question Id : 2105297970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ul stands for

1. Graphical Usage Interaction
2. Gaming User Interface

3. Graphical user Interface

4. Graphical User Interaction

Options :

21052931321. 1
21052931322. 2
21052931323.3
21052931324. 4

Question Number : 31 Question Id : 2105297970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hgs A aad g :

1. UMb e G4 3 elUasH
2. T goR geXhy

3. Aithdhd gok SeXhy
4, T goR eI

Options :

21052931321. 1
21052931322. 2
21052931323.3
21052931324. 4

Question Number : 32 Question Id : 2105297971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Operating systems are hardware

Statement II: Algorithm is a step by step procedure to solve a problem

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement Il is true

Options :

21052931325. 1
21052931326. 2
21052931327.3
21052931328. 4

Question Number : 32 Question Id : 2105297971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EICEAK AR RAE) (s

-1 ; ATRFHT e Brdam g

HUF- || - Veiiie faf ford Twear & Qe &1 90-e2-9X0 Ughd B
SR R & e P R 319 W SR E

1. BY | 3R 1 SHTEET B

2. @Y | AR 11 EF1 TTEd B

3. BYA-1 9 &, foog HYH-11 Tad B
4. HYF-1 AT 8, fooq BYA-11 9Bl B

Options :

21052931325. 1
21052931326. 2
21052931327.3

21052931328. 4



Question Number : 33 Question Id : 2105297972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement I: Compilers are software

Statement II: Touch screen monitors are input/output devices

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052931329. 1
21052931330. 2
21052931331. 3

21052931332. 4

Question Number : 33 Question Id : 2105297972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A T Py RU U E

FHUH-| - FHRAY JITedai 8|
HYA-1| : 79 TP HiHey TG,/ d SuH B |
Iuddad HYHl & Hald H FEiiad [deedl & T 981 SR 9 -

1. DY | 3R 11 TH Gl g
2. @Y | 3R 1| GFl Tad & |
3. HYH-1 9 B, fooeg HUH-11 TAd B |
4. DYH-1 3 HI 8, fooq HYH-11 98l B |

Options :



21052931329.1
21052931330. 2
21052931331. 3

21052931332. 4

Question Number : 34 Question Id : 2105297973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List Il

A. Image . .doc

B. Video 1. .mp3
C. Audio Ill. jpeg
D. Word processing V. .mpeg

Choose the correct answer from the options given below:

TA-LE-IL,C-ILD-1V
2A-ILB-IV,C-1I,D-|
SA-ILB-NLC-1IV,D-|
4 A-1LB-IV,C-IIL,D-1

Options :

21052931333. 1
21052931334. 2
21052931335. 3
21052931336. 4

Question Number : 34 Question Id : 2105297973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gli-1 Dl Faii-11 & Y FHferd Hifor -

gal-| Tl-Il

A THA . a3 i
5. difsgr I, TH U3

C. 3ifsar . = ot g o
D. 93 Ui V. T O g ol
=g feu e f9@eal § 9§ 981 SR g :

TA-LB-ILC-1,D-1V
ZA-ILB-IV,C-II,D-1
SA-ILB-ILC-IV,D-I
4 A-LB-IV,C-1I,D-1

Options:

21052931333. 1
21052931334. 2
21052931335.3

21052931336. 4

Question Number : 35 Question Id : 2105297974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List Il

A. Search engine l. www.gmail.com
B.Job openings Il. www.amazon.in
C. E-mail . www.google.com
D. E-commerce V. www.naukri.com

Choose the correct answer from the options given below:

TLA-N,BE-IV,C-1,D-1
2A-IVBE-NIILC-1,D-1I
SA-LBE-ILC-1,D-IV
4A-LB-NLC-NI,D-1IV

Options :

21052931337. 1



21052931338. 2
21052931339. 3

21052931340. 4

Question Number : 35 Question Id : 2105297974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G- ®I ali-1l ¥ gHfed Sifo ;

gal-| -1l

A. Td S9H . www.gmail.com

B. Siia AU Il. www.amazon.in

C. g—ﬁlﬂ lIl. www.google.com
D. g—ﬁuﬂﬁ V. www.naukari.com
R eer e e o

TA-ILB-IV,C-1,D-Il
2ZA-IV,B-NILC-1,D-1
SA-LB-ILC-L,D-1V
4 A-LB-LC-1I,D-1IV

Options :

21052931337. 1
21052931338. 2
21052931339. 3

21052931340. 4

Question Number : 36 Question Id : 2105297975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dentify the correct sequence of countries contributing to global CO; emission in decreasing
order from fossil fuel burning, cement manufacturing and gas flaring in the year 2014

A USA

B. EU-28

C. China

D. Russia

Choose the correct answer from the options given below

1.C,A B D
2ACBD
3.ABCD
4 A CDEB

Options :

21052931341. 1
21052931342. 2
21052931343.3

21052931344. 4

Question Number : 36 Question Id : 2105297975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

% 2014 B SilaTeA S & wor, 9 & 1900 3R 719 & Twaferd g4 & ®RU aiEd co,
e H GNGH B aTel ¢ & ged $Y $ GgdH BIToy ;

A, T T SR
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C.9H

D.¥H

I g T fomedl & © T8 S gL

1.CABD
2ACED
3.AECD
4 ACDE



Options :

21052931341. 1
21052931342, 2
21052931343.3
21052931344. 4

Question Number : 37 Question Id : 2105297976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following are used as semiconductor materials to fabricate solar cells
A. Silicon (5i)

B. Tin oxide (SnO)

C. Cadmium Sulphide (CdS)

D. Gallium Arsenide (GaAs)

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3.B,Cand D only
4.A, B CandD

Options:

21052931345. 1
21052931346. 2
21052931347.3

21052931348. 4

Question Number : 37 Question Id : 2105297976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



[Fafeiad H 9 [egd! Fier ¥ & HH0 H $Hih ey ® w0 § JUdi fhd] 91l § 2
A, fafa®E (si)

8. fe1 3{1a133 (Sn0O)

C. B Geb5s (CdS)

D. TTIgH HEAIES (GaAs)
- fgu T fa@edl & ¥ 98! S gHU:

1. AT A 3R C
2. Had A 3R B
3. ®aAB, C 3R D

4.7, B,C3RD
Options :
21052931345. 1
21052931346. 2
21052931347. 3

21052931348. 4

Question Number : 38 Question Id : 2105297977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Sustainable Development Goal?

1. Gender equity

2. Climate action

3. Protection of Ozone layer
4. Life below water

Options :

21052931349. 1
21052931350. 2
21052931351. 3

21052931352. 4



Question Number : 38 Question Id : 2105297977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931349. 1
21052931350. 2
21052931351. 3

21052931352. 4

Question Number : 39 Question Id : 2105297978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 11

Pathogens in water Disease they cause
A. Virus . Cholera

B. Bacteria Il Schistosomiasis
C. Protozoa lIl. Hepatitis

D. Helminths (Parasitic worm) IV. Dysentery

Choose the correct answer from the options given below:

TA-LE-N,C-IV,D-1I
2A-LBE-NLC-1LD-IV
SA-NLE-LC-ILD-IV
4A-NLE-1,C-IV,D-1

Options :
21052931353, 1

21052931354. 2



21052931355. 3

21052931356. 4

Question Number : 39 Question Id : 2105297978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-IV,D-Il
ZA-1LB-U,C-ILD-1IV
SA-ILB-1L,C-NILD-1IV
4 A-1LB-1,C-IV,D-1I

Options :

21052931353. 1
21052931354. 2
21052931355. 3

21052931356. 4

Question Number : 40 Question Id : 2105297979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are emitted from a coal-based thermal power plant?
A. Carbon monoxide

B. Ozone

C. Sulphur dioxide

D. Methane

E.Particulate matter

Choose the correct answer from the options given below:

1. A, B, Cand E only
2. A, CandE only
3. A, Band Conly
4. A C DandEonly

Options :

21052931357. 1
21052931358. 2
21052931359. 3

21052931360. 4

Question Number : 40 Question Id : 2105297979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931357. 1
21052931358. 2
21052931359. 3

21052931360. 4

Question Number : 41 Question Id : 2105297980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The three greatest challenges facing higher education in India, described by
FICCI (2012) are expansion, equity and excellence

Statement lI: While all three issues indicated in Statement | are inter-linked, equity to a large
extent is dependent on expansion and access

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true



Options :

21052931361. 1
21052931362. 2
21052931363. 3
21052931364 4

Question Number : 41 Question Id : 2105297980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931361. 1
21052931362. 2
21052931363.3

21052931364. 4

Question Number : 42 Question Id : 2105297981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are regulatory bodies within the Department of Higher Education in the
Ministry of Human Resource Development in the Central Government?

A NUEPA

B. UGC

C. AICTE

D. DEC

E. ICSSR

Choose the correct answer from the options given below:

1. B, Cand D only
2.A B and Conly
3.C, D and E only
4. A Dand E only

Options :

21052931365. 1
21052931366. 2
21052931367. 3
21052931368. 4

Question Number : 42 Question Id : 2105297981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931365. 1
21052931366. 2
21052931367. 3

21052931368. 4

Question Number : 43 Question Id : 2105297982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify from the following, features which describe most appropriately the Indian values
A. Emphasis on individual ambition

B. Emphasis on collectivism

C. Emphasis on social progress

D. Emphasis on social stability

E. Emphasis on unity in diversity

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C,DandE only
4.B, D and E only

Options :

21052931369. 1
21052931370. 2
21052931371.3
21052931372. 4

Question Number : 43 Question Id : 2105297982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931369. 1
21052931370. 2
21052931371.3

21052931372. 4

Question Number : 44 Question Id : 2105297983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The UGC in India has statutory responsibility for maintenance of quality and
coordination of institutions of higher education

Statement II: The NCTE being a regulatory body for teacher education in India comes under
the control of UGC

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement || is false
4, Statement | is incorrect but Statement Il is true

Options:

21052931373. 1
21052931374. 2
21052931375.3

21052931376. 4

Question Number : 44 Question Id : 2105297983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931373. 1



21052931374. 2
21052931375. 3
21052931376. 4

Question Number : 45 Question Id : 2105297984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In university governance, who is the executive head?

1. The Chancellor

2. The Vice-Chancellor

3. The Registrar

4. The Education Secretary

Options :

21052931377. 1
21052931378. 2
21052931379. 3

21052931380. 4

Question Number : 45 Question Id : 2105297984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052931377. 1
21052931378. 2

21052931379. 3



21052931380. 4

Sub-Section Number : 3
Sub-Section Id : 210529305
Question Shuffling Allowed : Yes

Question Id : 2105297985 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

At the turn of the century, a dominant conception of the child as learner was that he was
cognitively an "empty organism” responding more or less randomly to stimulation, and
characteristically learning when specific responses were connected with specific stimuli
through the meditation of pleasure or pain. The organism itself, it was believed, would do
nothing to learn or think if it were not impelled to such activity by primary drives like hunger
or thirst or by externally applied motives like reward and punishment. Experimenters in the
laboratory were connecting correct responses of animals to puzzle boxes by giving or
withholding food and teachers in the classroom were connecting correct responses of children
to problem cards by giving or withholding approval.

In pointing to this aspect of the turn-of-the-century view of the learner, | do not mean to
derogate the historic achievement of the connectionist formulation of learning. But the
essential point remains, a conception of the learner as an ideationally empty organism
associating discrete stimuli and responses through the operation of rewards and punishments
under the control of the teacher. Both the stimulus - what was supposed to be learned - and
the response - what was actually learned - were believed to be determined by the teacher.

It was no accident that the materials and methods of instruction and the form of the classroom
were teacher-centred. The teacher was necessarily placed in front of the classroom -
sometimes on a dais or platform - and the pupils in chairs rigidly fastened to the floor in
straight rows facing forward so they would not turn away from the only source of the learning
experience: the teacher. Given this contemporary vision of the learner, what could be a more
eminently practical and sensible image of the ideal learning environment? Indeed, there is a
letter by John Dewey dating from this period in which he complains that when he was trying to
equip his new school according to his different conception of child as learner, he was unable
to find any other kind of classroom furniture.

Sub questions



Question Number : 46 Question Id : 2105297986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The early child was thought of as

1. Intelligent enough to know both pain and pleasure
2. Having no power of cognition

3. Not amenable to specific stimuli

4. Having motivational effect in a random way

Options :

21052931381. 1
21052931382. 2
21052931383. 3

21052931384. 4

Question Number : 47 Question Id : 2105297987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The basic idea behind laboratory experiment was related to

1. Motivating the child with reward and punishment

2. Considering hunger and thirst as negligible in impact
3. Animals and children having the same drive

4. Teachers controlling children

Options :

21052931385. 1
21052931386. 2
21052931387.3

21052931388. 4

Question Number : 48 Question Id : 2105297988 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The connectionist formula placed importance on

1. Withholding negative stimuli

2. Teacher-centric motivation

3. Search for specific responses

4. Doing experiments in laboratories

Options :

21052931389. 1
21052931390. 2
21052931391. 3

21052931392. 4

Question Number : 49 Question Id : 2105297989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was expected of pupils during those early days?

1. To create an ideal learning environment

2. To be in the forefront of the classroom

3. Be attentive towards classroom teaching

4. To place the teacher on the higher pedestal

Options :

21052931393. 1
21052931394. 2
21052931395. 3
21052931396. 4

Question Number : 50 Question Id : 2105297990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What did John Dewey say of child learning?

1. Teacher as the only source of knowledge

2. The learner should be given incentives for learning
3. The existing educational environment was ideal

4. The focus should be on child as a learner

Options :

21052931397. 1
21052931398. 2
21052931399. 3
21052931400. 4

Question Id : 2105297985 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2105297986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:
21052931381. 1
21052931382. 2



21052931383. 3
21052931384. 4

Question Number : 47 Question Id : 2105297987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931385. 1
21052931386. 2
21052931387.3

21052931388. 4

Question Number : 48 Question Id : 2105297988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Geearc! 94 - fogd! Aew fGarur 2

1. TBRIAD I8 9P bl ADT
2. FRI&UT-shi=d SR

3. Ta=I9 fsparal o EieHn
A, TR H WG &A1

Options :

21052931389. 1
21052931390. 2
21052931391.3

21052931392. 4



Question Number : 49 Question Id : 2105297989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931393. 1
21052931394. 2
21052931395. 3

21052931396. 4

Question Number : 50 Question Id : 2105297990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931397. 1
21052931398. 2
21052931399. 3

21052931400. 4



PART II Environmental Science

Section Id : 21052996
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529306
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105297991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Good absorbers are good emitters. This statement refers to which of the following laws?

1. Stefan’s Law

2. Wien's Displacement Law
3. Planck’s Law

4. Kirchhoff's Law
Options :

21052931401. 1
21052931402. 2
21052931403. 3

21052931404. 4

Question Number : 51 Question Id : 2105297991 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Good absorbers are good emitters. This statement refers to which of the following laws?

1. Stefan’s Law

2. Wien's Displacement Law
3. Planck’s Law

4. Kirchhoff's Law
Options :

21052931401. 1
21052931402. 2
21052931403. 3

21052931404. 4

Question Number : 52 Question Id : 2105297992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sample of air has a relative humidity of 60%. Given that the Saturated Vapour Pressure of

water is 2260 Pa, calculate the vapour pressure of the air at 20°C.

1. ~ 1460 Pa
2.~ 452 Pa
3.~ 3767 Pa
4. ~ 1356 Pa
Options :

21052931405. 1
21052931406. 2
21052931407. 3

21052931408. 4

Question Number : 52 Question Id : 2105297992 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sample of air has a relative humidity of 60%. Given that the Saturated Vapour Pressure of
water is 2260 Pa, calculate the vapour pressure of the air at 20°C.

1. ~ 1460 Pa
2. ~ 452 Pa
3.~ 3767 Pa
4. ~ 1356 Pa
Options :

21052931405. 1
21052931406. 2
21052931407. 3

21052931408. 4

Question Number : 53 Question Id : 2105297993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is short-lived species in the atmosphere?

1. CHy

2. CO

3. N,O

4. OH radical

Options :

21052931400. 1
21052931410. 2
21052931411.3

21052931412. 4

Question Number : 53 Question Id : 2105297993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which among the following is short-lived species in the atmosphere?

1. CHy

2. CO

3. N>O

4. OH radical
Options :
210529314009. 1
21052931410. 2
21052931411.3

21052931412. 4

Question Number : 54 Question Id : 2105297994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The chemical composition of CFC-113 is

1. CF2CICFCl5

2. CFHCICFCI3

3. CFaCF2Cl>

4. CFHCF5Cla
Options :
21052931413. 1
21052931414. 2
21052931415. 3

21052931416. 4

Question Number : 54 Question Id : 2105297994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The chemical composition of CFC-113 is

1. CF2CICFCl

2. CFHCICFCl»

3. CF3CFaCly

4. CFaHCF>Cls
Options :
21052931413.1
21052931414. 2
21052931415. 3

21052931416. 4

Question Number : 55 Question Id : 2105297995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Soil humic acids are

1. Insoluble in alkali

2. Insoluble in acid

3. Soluble in acid

4. Insoluble in both acid and alkali
Options:

21052931417. 1

21052931418. 2

21052931419. 3

21052931420. 4

Question Number : 55 Question Id : 2105297995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Soil humic acids are

1. Insoluble in alkali

2. Insoluble in acid

3. Soluble in acid

4. Insoluble in both acid and alkali

Options :

21052931417. 1
21052931418. 2
21052931419.3
21052931420. 4

Question Number : 56 Question Id : 2105297996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Volatile Organic Compounds (VOCs) are of great concern because:

1. Once such compounds are in the vapour state, they are difficult to control in the
environment.

2. Most of them are ozone depleting substances

3. They contribute to a general increase in reactive hydrocarbons in the atmosphere.

4. They are less soluble in water.

Options:

21052931421. 1
21052931422. 2
21052931423.3

21052931424. 4

Question Number : 56 Question Id : 2105297996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Volatile Organic Compounds (VOCs) are of great concern because:

1. Once such compounds are in the vapour state, they are difficult to control in the
environment.

2. Most of them are ozone depleting substances

3. They contribute to a general increase in reactive hydrocarbons in the atmosphere.

4. They are less soluble in water.

Options :

21052931421. 1
21052931422. 2
21052931423.3
21052931424. 4

Question Number : 57 Question Id : 2105297997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hyperthermophilic microorganisms prefer temperatures in excess of.

1. 45°C

2. 80°C

3. 65°C

4. 70°C
Options:
21052931425. 1
21052931426. 2
21052931427.3

21052931428. 4

Question Number : 57 Question Id : 2105297997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hyperthermophilic microorganisms prefer temperatures in excess of.

2
fﬁ‘lfﬁ‘lfﬁ‘l

5
0°
3
0°

"-JO"-CQ-R»
r‘“.

EES

Options :

21052931425. 1
21052931426. 2
21052931427.3

21052931428. 4

Question Number : 58 Question Id : 2105297998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The most toxic form of mercury in water is

E.ng‘
2. HsC - Hg~
3. Hg®

Hg~™
Options:
21052931429. 1
21052931430. 2
21052931431.3

21052931432. 4

Question Number : 58 Question Id : 2105297998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The most toxic form of mercury in water is

E.ng‘

2. H3C - Hg*

3. Hg®

4. Hg~
Options :
21052931429. 1
21052931430. 2
21052931431.3

21052931432. 4

Question Number : 59 Question Id : 2105297999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

One Dobson unit, represents the ozone layer of thickness

1. One-hundredth of a centimeter
2. One-tenth of a centimetre

3. One-hundredth of a millimeter
4. One-thousandth of a millimeter

Options:

21052931433. 1
21052931434. 2
21052931435.3

21052931436. 4

Question Number : 59 Question Id : 2105297999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



One Dobson unit, represents the ozone layer of thickness

1. One-hundredth of a centimeter
2. One-tenth of a centimetre

3. One-hundredth of a millimeter
4. One-thousandth of a millimeter

Options :

21052931433. 1
21052931434. 2
21052931435.3
21052931436. 4

Question Number : 60 Question Id : 2105298000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The transitional zone (ecotone) between freshwater and terrestrial ecosystems is known as

1. Riparian Zone
2. Hyporheic zone
3. Benthic zone
4. Epilimnetic zone

Options:

21052931437. 1
21052931438. 2
21052931439.3

21052931440. 4

Question Number : 60 Question Id : 2105298000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The transitional zone (ecotone) between freshwater and terrestrial ecosystems is known as

1. Riparian Zone
2. Hyporheic zone
3. Benthic zone

4. Epilimnetic zone
Options :
21052931437. 1
21052931438. 2
21052931439. 3

21052931440. 4

Question Number : 61 Question Id : 2105298001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following silicate clay minerals exhibits highest interlayer expansion?

1. Montmorillonite
2. Vermiculite

3. Chlorite

4. Kaolinite

Options:

21052931441. 1
21052931442. 2
21052931443.3

21052931444. 4

Question Number : 61 Question Id : 2105298001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following silicate clay minerals exhibits highest interlayer expansion?

1. Montmoaorillonite
2. Vermiculite

3. Chlorite

4. Kaolinite

Options :

21052931441. 1
21052931442. 2
21052931443.3
21052931444. 4

Question Number : 62 Question Id : 2105298002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Beside steam, next gas in order of abundance emitted from a volcanic eruption is

1. Sulphur dioxide

2. Nitrogen dioxide
3. Carbon dioxide

4. Carbon monoxide

Options:

21052931445. 1
21052931446. 2
21052931447.3

21052931448. 4

Question Number : 62 Question Id : 2105298002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Beside steam, next gas in order of abundance emitted from a volcanic eruption is

1. Sulphur dioxide

2. Nitrogen dioxide
3. Carbon dioxide

4. Carbon monoxide
Options :
21052931445. 1
21052931446. 2
21052931447. 3

21052931448. 4

Question Number : 63 Question Id : 2105298003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Heteromorphic rocks have

1. Same mineral composition arising from similar magmas under different conditions
of crystallization.

2. Different mineral composition arising from similar magmas under different conditions of
crystallization.

3. Different mineral composition arising from different magmas under different conditions of
crystallization.

4. Same mineral composition arising from different magmas under different conditions of
crystallization.

Options:

21052931449. 1
21052931450. 2
21052931451.3

21052931452. 4

Question Number : 63 Question Id : 2105298003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Heteromorphic rocks have

1. Same mineral composition arising from similar magmas under different conditions
of crystallization.

2. Different mineral composition arising from similar magmas under different conditions of
crystallization.

3. Different mineral composition arising from different magmas under different conditions of
crystallization.

4. Same mineral composition arising from different magmas under different conditions of
crystallization.

Options :

21052931449. 1

21052931450. 2

21052931451. 3

21052931452. 4

Question Number : 64 Question Id : 2105298004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

A rock composed entirely of crystals is said to be

1. Hypocrystalline
2. Microcrystalline
3. Holocrystalline
4. Holohyaline

Options:

21052931453. 1
21052931454. 2
21052931455. 3

21052931456. 4

Question Number : 64 Question Id : 2105298004 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

A rock composed entirely of crystals is said to be

1. Hypocrystalline
2. Microcrystalline
3. Holocrystalline
4. Holohyaline
Options :
21052931453. 1
21052931454. 2
21052931455. 3

21052931456. 4

Question Number : 65 Question Id : 2105298005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A Si-solar cell has the minority carrier saturation current = 60 nAm™ and solar radiation-
induced current = 600 Am™2 . If the ambient temperature is 27°C, what is the open-circuit

voltage of the solar cell?

1. ~06Y

2.~ 045V

3. ~0.5V

4 ~1.5V
Options :
21052931457. 1
21052931458. 2
21052931459. 3

21052931460. 4

Question Number : 65 Question Id : 2105298005 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A Si-solar cell has the minority carrier saturation current = 60 nAm and solar radiation-
induced current = 600 Am™ . If the ambient temperature is 27°C, what is the open-circuit
voltage of the solar cell?

1.~06V
2.~ 045V
3. ~0.5V
4 ~1.5V

Options :

21052931457. 1
21052931458. 2
21052931459. 3
21052931460. 4

Question Number : 66 Question Id : 2105298006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one among the following Solar Collectors has the highest Concentration Ratio or CR
value (a measure cf the efficiency of the Solar Collectors)?

1. Compound Parabolic Collector with a plane receiver
2. Cylindrical Parabolic Collector

3. Fresnel Lens Collector

4. Paraboloid dish collector

Options :

21052931461. 1
21052931462. 2
21052931463. 3

21052931464. 4

Question Number : 66 Question Id : 2105298006 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one among the following Solar Collectors has the highest Concentration Ratio or CR
value (a measure of the efficiency of the Solar Collectors)?

1. Compound Parabolic Collector with a plane receiver
2. Cylindrical Parabolic Collector

3. Fresnel Lens Collector

4. Paraboloid dish collector

Options :

21052931461. 1
21052931462. 2
21052931463. 3

21052931464. 4

Question Number : 67 Question Id : 2105298007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i =l 7135
The fast neutrons produced in the process of nuclear fission of > U, have an average energy
of about

1. 100 keV
2. 1.0 Mev
3. 2.0 Mev
4. 2.6 Mev

Options :

21052931465. 1
21052931466. 2
21052931467.3

21052931468. 4

Question Number : 67 Question Id : 2105298007 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: =0 & 735
The fast neutrons produced in the process of nuclear fission of <> U, have an average energy

of about

1. 100 keV
2. 1.0 Mev
3. 2.0 Mev
4. 2.6 Mev

Options :

21052931465. 1
21052931466. 2
21052931467. 3

21052931468. 4

Question Number : 68 Question Id : 2105298008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A small hydropower station based on the conversion of the kinetic energy of a river water
generates power. If the flow of water is 10 m®s'and the speed of water is 3 ms™!, what is the
maximum power the station can generate? (Assume efficiency of the power station to be 0.6)

1. 18 kW
2. 27 kW
3.36 kW
4,45 kW

Options :

21052931469. 1
21052931470. 2
21052931471.3

21052931472. 4

Question Number : 68 Question Id : 2105298008 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A small hydropower station based on the conversion of the kinetic energy of a river water
generates power. If the flow of water is 10 ms'and the speed of water is 3 ms™!, what is the
maximum power the station can generate? (Assume efficiency of the power station to be 0.6)

1.18 kw
2. 27 kW
3.36 kw
4,45 kW

Options :

21052931469. 1
21052931470. 2
21052931471.3
21052931472. 4

Question Number : 69 Question Id : 2105298009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. : . O A AT ; < ;
The maximum cross-section for the fusion reaction LESLAE reached at energies of nuclei at

1.~ 10 keV
2. ~ 100 keV
3.~ 1.0 keV
4. ~ 17.6 keV
Options:

21052931473.1
21052931474. 2
21052931475. 3

21052931476. 4

Question Number : 69 Question Id : 2105298009 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

- - - I TR " -
The maximum cross-section for the fusion reaction HtlHIs reached at energies of nuclei at

1.~ 10 keV
2.~ 100 keV
3.~ 10kseV
4 ~ 176 keV
Options :

21052931473. 1
21052931474. 2
21052931475. 3

21052931476. 4

Question Number : 70 Question Id : 2105298010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to National Ambient Air Quality Standards (NAAQS), the annual limits for PMsg and

PM; 5 in ecologically sensitive areas (in pg/m?) are

1. 100 and 60, respectively
2. 60 and 40, respectively
3.40 and 20, respectively
4. 40 and 15, respectively
Options:
21052931477. 1
21052931478. 2
21052931479. 3

21052931480. 4

Question Number : 70 Question Id : 2105298010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

According to National Ambient Air Quality Standards (NAAQS), the annual limits for PMqp and

PM; 5 in ecologically sensitive areas (in pg/m”) are

1. 100 and 60, respectively
2. 60 and 40, respectively
3. 40 and 20, respectively
4. 40 and 15, respectively

Options :

21052931477. 1
21052931478. 2
21052931479.3

21052931480. 4

Question Number : 71 Question Id : 2105298011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

At 1 atm pressure and 25°C temperature, NO; concentration of 80 ppb is equivalent to

1. 40 pgfm3

2. 160 ug;;’mE‘

3. 240 pg/m?
41504 pg;’m3
Options :
21052931481. 1
21052931482. 2
21052931483. 3

21052931484. 4

Question Number : 71 Question Id : 2105298011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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At 1 atm pressure and 25°C temperature, NO; concentration of 80 ppb is equivalent to

1. 40 pgfm3

2. 160 ug:;’mE‘

3. 240 ug:;’mE‘
41504 ug;’m3
Options :
21052931481. 1
21052931482. 2
21052931483. 3

21052931484. 4

Question Number : 72 Question Id : 2105298012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the sound pressure level (in dB) associated with a root mean square pressure of 100
Pa?

1.148 dB
2. 134 dB
3.120 dB
4110 dB

Options:

21052931485. 1
21052931486. 2
21052931487.3

21052931488. 4

Question Number : 72 Question Id : 2105298012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sound pressure level (in dB) associated with a root mean square pressure of 100
Pa?

1. 148 dB
2.134dB
3.120dB
4.110dB

Options :

21052931485. 1
21052931486. 2
21052931487.3
21052931488. 4

Question Number : 73 Question Id : 2105298013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the 'A’ weighting network used in noise measurements, sounds of which of the following
frequencies would require the least correction?

1.31.5 Hz
2. 125 Hz
3. 1000 Hz
4. 12500 Hz

Options:

21052931489. 1
21052931490. 2
21052931491.3

21052931492. 4

Question Number : 73 Question Id : 2105298013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0



In the 'A’ weighting network used in noise measurements, sounds of which of the following
frequencies would require the least correction?

1.31.5 Hz
2. 125 Hz
3. 1000 Hz
4. 12500 Hz

Options :

21052931489. 1
21052931490. 2
21052931491.3

21052931492. 4

Question Number : 74 Question Id : 2105298014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A N-fixing actinomycete associated with higher plants is:

1. Azospirillum
2. Clostridium
3. Frankia

4. Anabaena

Options:

21052931493. 1
21052931494. 2
21052931495. 3

21052931496. 4

Question Number : 74 Question Id : 2105298014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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A N-fixing actinomycete associated with higher plants is:

1. Azospirillum
2. Clostridium
3. Frankia

4. Anabaena

Options :

21052931493. 1
21052931494. 2
21052931495. 3

21052931496. 4

Question Number : 75 Question Id : 2105298015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Basel convention (1989) was designed to:

1. Reduce global waste generation

2. Control hazardous waste generation

3. Determine safe handling measures for hazardous waste

4. Prevent trans-boundary movement of hazardous waste between nations

Options:

21052931497. 1
21052931498. 2
21052931499. 3

21052931500. 4

Question Number : 75 Question Id : 2105298015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Basel convention (1989) was designed to:

1. Reduce global waste generation

2. Control hazardous waste generation

3. Determine safe handling measures for hazardous waste

4. Prevent trans-boundary movement of hazardous waste between nations

Options :

21052931497. 1
21052931498. 2
21052931499. 3
21052931500. 4

Question Number : 76 Question Id : 2105298016 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT an epigeic earthworm species?

1. Eisenia fetida

2. Eisenia andrei

3. Metaphire posthuma
4. Eudrilus eugeniae
Options:
21052931501. 1
21052931502. 2
21052931503. 3

21052931504. 4

Question Number : 76 Question Id : 2105298016 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT an epigeic earthworm species?

1. Eisenia fetida

2. Eisenia andrel

3. Metaphire posthuma
4. Eudrilus eugeniae
Options :
21052931501. 1
21052931502. 2
21052931503. 3

21052931504. 4

Question Number : 77 Question Id : 2105298017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which among the following is the major product of slow pyrolysis of biomass?
J i) x

1. Biochar

2. Biogas

3. Carbon monoxide
4. Carbon dioxide

Options:

21052931505. 1
21052931506. 2
21052931507. 3

21052931508. 4

Question Number : 77 Question Id : 2105298017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is the major product of slow pyrolysis of biomass?

1. Biochar

2. Biogas

3. Carbon monoxide
4. Carbon dioxide

Options :

21052931505. 1
21052931506. 2
21052931507. 3

21052931508. 4

Question Number : 78 Question Id : 2105298018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are the dominant products of anaerobic digestion of municipal solid

waste?

1.COzand H;

2. CH4 and C{:}g

3. CHy, CO;3, and H;
4. 07 and H,5
Options:
21052931509. 1
21052931510. 2
21052931511. 3

21052931512. 4

Question Number : 78 Question Id : 2105298018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the dominant products of anaerobic digestion of municipal solid

waste?

1. CO7 and H>

2. CH4 and CO;

3. CHy, CO9, and H;
4. Oy and H,5

Options :

210529315009. 1
21052931510. 2
21052931511.3
21052931512. 4

Question Number : 79 Question Id : 2105298019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ecological engineering is based on which one of the four classes of ecotechnology?

1. Use of ecosystems to reduce a pollution problem

2. Imitation of ecosystems to reduce pollution leading to constructed ecosystems
3. Recovery of ecosystems after significant disturbances

4. Use of ecosystems for benefit of humanity without destroying ecological balance

Options:

21052931513. 1
21052931514. 2
21052931515.3

21052931516. 4

Question Number : 79 Question Id : 2105298019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Ecological engineering is based on which one of the four classes of ecotechnology?

1. Use of ecosystems to reduce a pollution problem

2. Imitation of ecosystems to reduce pollution leading to constructed ecosystems
3. Recovery of ecosystems after significant disturbances

4. Use of ecosystems for benefit of humanity without destroying ecological balance

Options :

21052931513. 1
21052931514. 2
21052931515.3

21052931516. 4

Question Number : 80 Question Id : 2105298020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the maximum period valid for granting Environmental Clearance (EC) for mining

projects?

1. 30 Years
2. 10 Years
3. 5 Years

4. 20 Years

Options:

21052931517. 1
21052931518. 2
21052931519.3

21052931520. 4

Question Number : 80 Question Id : 2105298020 Question Type : MCQ Option Shuffling : No
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What is the maximum period valid for granting Environmental Clearance (EC) for mining

projects?

1. 30 Years
2. 10 Years
3. 5 Years

4. 20 Years

Options :

21052931517. 1
21052931518. 2
21052931519.3
21052931520. 4

Question Number : 81 Question Id : 2105298021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Environmental Relief fund was created under ;

1. Environmental Protection Act
2. Forest Conservation Act

3. Public Liability Insurance Act
4, Wildlife Protection Act

Options:

21052931521. 1
21052931522. 2
21052931523.3

21052931524. 4

Question Number : 81 Question Id : 2105298021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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The Environmental Relief fund was created under:

1. Environmental Protection Act
2. Forest Conservation Act

3. Public Liability Insurance Act
4, Wildlife Protection Act

Options :

21052931521. 1
21052931522. 2
21052931523.3
21052931524. 4

Question Number : 82 Question Id : 2105298022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the categories of development projects does NOT require an Environmental
Impact Assessment (EIA) report?

1. Category 'A' projects

2. Category 'B;' projects

3. Category 'By' projects

4. Category 'B1' and 'B;' projects
Options:

21052931525. 1
21052931526. 2
21052931527. 3

21052931528. 4

Question Number : 82 Question Id : 2105298022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the categories of development projects does NOT require an Environmental
Impact Assessment (EIA) report?

1. Category 'A’ projects

2. Category 'B;' projects

3. Category 'By' projects

4. Category ‘B¢ and ‘B, projects
Options :

21052931525. 1
21052931526. 2
21052931527. 3

21052931528. 4
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According to Solid Waste Management Rules 2016, a landfill site should be at a distance of

how many meters away from a pond?

1. 200 meters
2. 150 meters
3. 100 meters
4. 50 meters

Options:

21052931529. 1
21052931530. 2
21052931531.3

21052931532. 4

Question Number : 83 Question Id : 2105298023 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Solid Waste Management Rules 2016, a landfill site should be at a distance of
how many meters away from a pond?

1. 200 meters
2. 150 meters
3. 100 meters
4. 50 meters

Options :

21052931529. 1
21052931530. 2
21052931531.3
21052931532. 4
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In an objective type examination, hundred questions are given. One mark is given for each
correct answer while 0.2 marks are deducted for each incorrect answer. The number of marks
scored by students appearing in the examination is an example of :

1. Nominal variable

2. Ordinal variable

3. Discrete variable

4, Continuous variable

Options:

21052931533. 1
21052931534. 2
21052931535.3

21052931536. 4
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In an objective type examination, hundred questions are given. One mark is given for each
correct answer while 0.2 marks are deducted for each incorrect answer. The number of marks
scored by students appearing in the examination is an example of :

1. Nominal variable

2. Ordinal variable

3. Discrete variable

4. Continuous variable
Options :
21052931533. 1
21052931534. 2
21052931535. 3

21052931536. 4
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If the mean of two groups of 'm' and 'n' observations are 40 and 60 respectively, and the
combined mean of two groups is 48, the ratio m:n is

[ =

Options:

21052931537. 1
21052931538. 2
21052931539.3

21052931540. 4
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If the mean of two groups of 'm' and 'n’ observations are 40 and 60 respectively, and the
combined mean of two groups is 48, the ratio min is

1. 2:3
2. 32
3.1:2
421

Options :

21052931537. 1
21052931538. 2
21052931539. 3
21052931540. 4
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Which of the following is a correct statement regarding range as a measure of dispersion?

1. The range is independent of the change of origin and scale

2. The range is independent of the change of origin but not of the scale
3. The range is independent of the change of scale but not of the origin
4. The range is not affected by fluctuations of sampling

Options:

21052931541. 1
21052931542. 2
21052931543.3

21052931544. 4
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Which of the following is a correct statement regarding range as a measure of dispersion?

1. The range is independent of the change of origin and scale

2. The range is independent of the change of origin but not of the scale
3. The range is independent of the change of scale but not of the origin
4. The range is not affected by fluctuations of sampling

Options :

21052931541. 1

21052931542. 2

21052931543. 3

21052931544. 4
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If T x = 230, ¥, x°=6500 and the numbers of observations N=10, the value of standard

deviation is

1.9
2.10
3. 11
412

Options:

21052931545. 1
21052931546. 2
21052931547.3

21052931548. 4
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If Y. x = 230, %, +°=6500 and the numbers of observations N=10, the value of standard

deviation is

1.9

2.10

3.11

412

Options :
21052931545. 1
21052931546. 2
21052931547. 3

21052931548. 4
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Which of the following does NOT fall under the major goals of the National Mission for Green
India?

1. To increase forest/tree cover to the extent of five million hectares.

2. To improve/enhance eco-system services like carbon sequestration and storage,
hydrological services and biodiversity.

3. To increase forest-based livelihood income of about three million households.

4. To study the traditional knowledge systems for community participation in adaptation
and mitigation strategies.

Options:

21052931549. 1
21052931550. 2
21052931551.3

21052931552. 4
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Which of the following does NOT fall under the major goals of the National Mission for Green
India?

1. To increase forest/tree cover to the extent of five million hectares.

2. To improve/enhance eco-system services like carbon sequestration and storage,
hydrological services and biodiversity.

3. To increase forest-based livelihood income of about three million households.

4. To study the traditional knowledge systems for community participation in adaptation
and mitigation strategies.

Options :

21052931549. 1

21052931550. 2

21052931551. 3

21052931552. 4
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Under the GRIHA Rating Norms, a building securing 57 points on a 100 point scale, will be
assigned which of the following star ratings?

1. Two star
2. Three star
3. Four star
4, Five star

Options:

21052931553. 1
21052931554. 2
21052931555. 3
21052931556. 4
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Under the GRIHA Rating Norms, a building securing 57 points on a 100 point scale, will be
assigned which of the following star ratings?

1. Two star
2. Three star
3. Four star
4, Five star

Options :

21052931553. 1
21052931554. 2
21052931555. 3

21052931556. 4
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The Brundtland Commission Report was entitled

1. Limits to Growth

2. Our Common Future

3. Sustainable Development
4. Tragedy of Commons
Options :

21052931557. 1
21052931558. 2
21052931559. 3

21052931560. 4
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The Brundtland Commission Report was entitled

1. Limits to Growth

2. Our Common Future

3. Sustainable Development
4. Tragedy of Commons

Options :

21052931557. 1
21052931558. 2
21052931559. 3

21052931560. 4
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Given below are two statements:

Statement I:

In clear water, the reflectance is very high in the visible region of the electromagnetic spectrum
Statement II:

Pure water strongly absorbs radiation from the mid-infrared spectral region

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

21052931561. 1
21052931562. 2
21052931563. 3
21052931564. 4
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Given below are two statements:

Statement I:

In clear water, the reflectance is very high in the visible region of the electromagnetic spectrum
Statement II:

Pure water strongly absorbs radiation from the mid-infrared spectral region

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement Il is true

Options:

21052931561. 1
21052931562. 2
21052931563. 3
21052931564. 4
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Following are the examples of Persistent Organic Pollutants (POPs)
A. Dioxin

B. Volatile Organic Compounds (VOCs)

C. Poly Chlorinated Biphenyl (PCBs)

C. Furans

E. Crganochlorine pesticides

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B, Cand D only
3.A, D, and E only
4. A C DandE only

Options :

21052931565. 1
21052931566. 2
21052931567. 3
21052931568. 4

Question Number : 92 Question Id : 2105298032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Following are the examples of Persistent Organic Pollutants (POPs)
A. Dioxin

B. Volatile Organic Compounds (VOCs)

C. Poly Chlorinated Biphenyl (PCBs)

C. Furans

E. Crganochlorine pesticides

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B, Cand D only
3.A, D, and E only
4. A C DandE only

Options :

21052931565. 1
21052931566. 2
21052931567. 3
21052931568. 4
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Consider the following statements regarding the solubility of gases in water

A. The concentration of a dissolved gas in water is proportional to its partial pressure in the air
B. The solubility of a gas in water remains unaffected as other dissolved material in it increases
C. The solubility of a gas increases as temperature increases

D. The solubility of gases in water is governed by Henry's law

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only

Options :

21052931569. 1
21052931570. 2
21052931571.3

21052931572. 4
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Consider the following statements regarding the solubility of gases in water

A. The concentration of a dissolved gas in water is proportional to its partial pressure in the air
B. The solubility of a gas in water remains unaffected as other dissolved material in it increases
C. The solubility of a gas increases as temperature increases

D. The solubility of gases in water is governed by Henry's law

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only



Options :

21052931569. 1
21052931570. 2
21052931571. 3
21052931572. 4
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Consider the following statement regarding ex-situ bioremediation of contaminated soil:

A. Bioremediation techniques can be applied at or very near the site of contamination.

B. Biopiles and windrow composting are the most dominant ex-situ bioremediation techniques
for treating contaminated soils.

C. Biopiles can be formed with larger volumes of soil than windrows.
D. Both biopiles and windrow composting are anaerobic processes.
Choose the correct answer from the options given below:

1. A and B only
2.B and D only
3.A B and Conly
4. A, B, and D only

Options :

21052931573. 1
21052931574. 2
21052931575.3

21052931576. 4
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Consider the following statement regarding ex-situ bioremediation of contaminated soil:
A. Bioremediation techniques can be applied at or very near the site of contamination.

B. Biopiles and windrow composting are the most dominant ex-situ bioremediation techniques
for treating contaminated soils.

C. Biopiles can be formed with larger volumes of soil than windrows.
D. Both biopiles and windrow composting are anaerobic processes.
Choose the correct answer from the options given below:

1. A and B only
2.B and D only
3.A B and Conly
4. A, B, and D only

Options :

21052931573. 1
21052931574. 2
21052931575. 3

21052931576. 4
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Diesel Exhaust Particles (DEP), known to manifest asthma-like features, are responsible for
A. Chronic airway inflammation

B. Mucus hypersecretion

C. Airway expansion

D. Marked infiltration of eosinophils

E. Airway hyperresponsiveness

Choose the correct answer from the options given below

1.4 C,Dand E only
2. A B, Cand D only
3. A B, D, and E only
4.B,C, DandEonly

Options :

21052931577. 1
21052931578. 2
21052931579. 3

21052931580. 4
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Diesel Exhaust Particles (DEP), known to manifest asthma-like features, are responsible for
A. Chronic airway inflammation

B. Mucus hypersecretion

C. Airway expansion

D. Marked infiltration of eosinophils

E. Airway hyperresponsiveness

Choose the correct answer from the options given below

1.4 C,Dand E only
2. A B, Cand D only
3. A B, D, and E only
4.B,C, DandEonly

Options :

21052931577. 1
21052931578. 2
21052931579. 3

21052931580. 4
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Consider the following statements regarding the phytoremediation of metal
contaminated sites:

A. Natural abilities of certain plant species are utilized to remove or stabilize toxic metals.

B. Certain species termed hyperaccumulators can adsorb 50-100 times larger amounts of
metals compared to most ordinary plants.

C. The best candidates for removal by phytoremediation are arsenic and cadmium
D. The harvested hyperaccumulating plants can be recycled in agriculture
Choose the correct answer from the options given below

1. A only

2. A and B only
3.A B, and C only
4. A, C and D only

Options :

21052931581. 1
21052931582. 2
21052931583. 3
21052931584. 4
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Consider the following statements regarding the phytoremediation of metal
contaminated sites:

A. Natural abilities of certain plant species are utilized to remove or stabilize toxic metals.

B. Certain species termed hyperaccumulators can adsorb 50-100 times larger amounts of
metals compared to most ordinary plants.

C. The best candidates for removal by phytoremediation are arsenic and cadmium
D. The harvested hyperaccumulating plants can be recycled in agriculture
Choose the correct answer from the options given below

1. A only

2. A and B only
3.A B, and C only
4. A, C and D only

Options :

21052931581. 1
21052931582. 2
21052931583. 3
21052931584. 4
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Given below are two statements:
Statement I:

Many bacteria carry plasmids, which are much smaller pieces of DNA, also circular, and self-

replicating.
Statement II:

Plasmids are vitally important in the context of the environmental biotechnology in that they

frequently carry the genes for degradative pathways.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is carrect

Options :

21052931585. 1
21052931586. 2
21052931587. 3

21052931588. 4
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Given below are two statements:
Statement I:

Many bacteria carry plasmids, which are much smaller pieces of DNA, also circular, and self-

replicating.
Statement II:

Plasmids are vitally important in the context of the environmental biotechnology in that they

frequently carry the genes for degradative pathways.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is carrect

Options :

21052931585. 1
21052931586. 2
21052931587. 3

21052931588. 4
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Consider the following statements regarding reactions in moderately acidic soils:
A. Base saturation is higher than that in the strongly acidic soils.

B. Free aluminium ions are abundant in soil solutions.

C. Aluminium hydroxy ions act as exchangeable cations.

D. 'Small amounts of readily exchangeable hydrogen contributes to soil acidity
Choose the correct answer from the options given below

1. A and B only

2. A, Band C only
3. A, C and D only
4. B, C, and D only

Options :

21052931589. 1
21052931590. 2
21052931591. 3
21052931592. 4
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Consider the following statements regarding reactions in moderately acidic soils:
A. Base saturation is higher than that in the strongly acidic soils.

B. Free aluminium ions are abundant in soil solutions.

C. Aluminium hydroxy ions act as exchangeable cations.

D. 'Small amounts of readily exchangeable hydrogen contributes to soil acidity
Choose the correct answer from the options given below

1. A and B only

2. A, Band Conly
3.A, C and D only
4. B, C, and D only



Options :

21052931589. 1
21052931590. 2
21052931591. 3
21052931592. 4
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Given below are two statements.

Statement I:

Cyclonic wind flow in the northern hemisphere is counter-clockwise.

Statement Il:

If you stand with your back to the wind in the northern hemisphere, low pressure will be to
your left and high pressure will be to your right.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is carrect

Options :

21052931593. 1
21052931594. 2
21052931595. 3
21052931596. 4
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Given below are two statements.

Statement I:

Cyclonic wind flow in the northern hemisphere is counter-clockwise.
Statement II:

If you stand with your back to the wind in the northern hemisphere, low pressure will be to
your left and high pressure will be to your right.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

21052931593. 1
21052931594. 2
21052931595. 3

21052931596. 4
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What is the correct increasing order of following rocks by per cent volume in the earth's crust?
A. Igneous rocks

B. Sedimentary rocks.

C. Metamorphic rocks

Choose the correct answer from the options given below:

1.A B C
2.CB A
3.ACB
48 CA

Options :

21052931597. 1
21052931598. 2
21052931599. 3
21052931600. 4
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What is the correct increasing order of following rocks by per cent volume in the earth's crust?
A. Igneous rocks

B. Sedimentary rocks.

C. Metamorphic rocks

Choose the correct answer from the options given below:

1.A B C

2.C B A

3.ACB

4B CA
Options:
21052931597. 1

21052931598. 2



21052931599. 3
21052931600. 4
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What is the correct sequence in decreasing order of hardness among the following?
A. Gypsum

B. Fluorite

C. Feldspar

D. Topaz

Choose the correct answer from the options given below:

1.C=D=B=A
2.D>B=>C>A
3.D>C=B=A

4. C-D=A>B
Options:
21052931601. 1
21052931602. 2
21052931603. 3

21052931604. 4
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What is the correct sequence in decreasing order of hardness among the following?
A, Gypsum

B. Fluorite

C. Feldspar

D. Topaz

Choose the correct answer from the options given below:

1. C=D=B=A

2 D>B>C>A

3. D>C=B>A

4 C>D=A>B
Options :
21052931601. 1
21052931602. 2
21052931603. 3

21052931604. 4
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A random variable X follows Poisson distribution such that probabilities P(X=1) = P(X=2). Now
consider the following statements:

A. The mean of this Poisson distribution is 2.

B. The variance of this Poisson distribution is 2.

C. Probability P(X=0) is equal to e

D- Probability P(X=0) = P(X=1)

Choose the correct answer from the options given below

1. A B, and C only
2.B, Cand D only
3.A BandD only
4. A Cand D only



Options :

21052931605. 1
21052931606. 2
21052931607. 3
21052931608. 4
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A random variable X follows Poisson distribution such that probabilities P(X=1) = P(X=2). Now
consider the following statements:

A. The mean of this Poisson distribution is 2.

B. The variance of this Poisson distribution is 2.

C. Probability P(X=0) is equal to e

D probability P(X=0) = P(X=1)

Choose the correct answer from the options given below

1. A B, and C only
2.B,Cand D only
3. A Band D only
4. A, Cand D only

Options :

21052931605. 1
21052931606. 2
21052931607. 3
21052931608. 4
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Identify the correct sequence of the following countries/group of countries credited with the
highest to the lowest shares of cumulative CO; emissions to date.

A USA

B. China

C. EU

D. India

E. Japan

Choose the correct answer from the options given below

1.ABCED
2ACEDB
3.A,CBDE
4 A CBED

Options :

210529316009. 1
21052931610. 2
21052931611.3
21052931612. 4

Question Number : 103 Question Id : 2105298043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following countries/group of countries credited with the
highest to the lowest shares of cumulative CO; emissions to date.

A USA

B. China

C. EU

D. India

E. Japan

Choose the correct answer from the options given below

1.ABCED
2ACEDB
3.A,CBDE
4 A CBED

Options :

210529316009. 1
21052931610. 2
21052931611.3
21052931612. 4

Question Number : 104 Question Id : 2105298044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relative contribution (%) of the Green House Gases to global warming in decreasing order
A. Carbon dioxide

B. Methane

C. CFC-12

D. Nitrous oxide

Choose the correct answer from the options given below:

1. A=B>C>D

2 A=B=D=C

3. C>A>D>B

4. C=A>B=D
Options :
21052931613. 1
21052931614. 2
21052931615. 3

21052931616. 4

Question Number : 104 Question Id : 2105298044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Relative contribution (%) of the Green House Gases to global warming in decreasing order
A. Carbon dioxide

B. Methane

C.CFC-12

D. Nitrous oxide

Choose the correct answer from the options given below:

1. A=B=C>D
2. A>B>D=C
3.C>A>D=B
4 C=A=B=D



Options :

21052931613. 1
21052931614. 2
21052931615. 3

21052931616. 4

Question Number : 105 Question Id : 2105298045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding reactions of pesticides in soils:
A. They may vaporize into the atmosphere without any chemical change.

B. They do not move downward through the soil in solution form.

C. They are resistant to microbial decay.

D. They may be absorbed by plants.

Choose the most appropriate answer from the options given below

1. A and D only
2. A, B, and D only
3. A, C and D only
4. A and C only

Options :

21052931617. 1
21052931618. 2
21052931619. 3
21052931620. 4

Question Number : 105 Question Id : 2105298045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following statements regarding reactions of pesticides in soils:
A. They may vaporize into the atmosphere without any chemical change.

B. They do not move downward through the soil in solution form.

C. They are resistant to microbial decay.

D. They may be absorbed by plants.

Choose the most appropriate answer from the options given below

1. A and D only
2. A, B, and D only
3. A, C and D only
4. A and C only

Options :

21052931617. 1
21052931618. 2
21052931619. 3
21052931620. 4

Question Number : 106 Question Id : 2105298046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following regarding the incineration process of solid waste.

A It is an oxidation process.

B. The two major combustible chemical elements are carbon and hydrogen.
C. Cellulose in the biowaste is transformed into organic acids.

D. Excess source of air is not necessary.

Choose the correct answer from the options given below

1. A and C only
2. B and C only
3. A and B only
4. B and D only



Options :

21052931621. 1
21052931622. 2
21052931623.3

21052931624. 4
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following regarding the incineration process of solid waste.

A. It is an oxidation process.

B. The two major combustible chemical elements are carbon and hydrogen.
C. Cellulose in the biowaste is transformed into organic acids.

D. Excess source of air is not necessary.

Choose the correct answer from the options given below

1. A and C only
2. B and C only
3. A and B only
4. B and D only

Options :

21052931621. 1
21052931622. 2
21052931623.3
21052931624. 4

Question Number : 107 Question Id : 2105298047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: The risks from radioactive liquid wastes are caused under decontamination,

solidification and disposal procedures.
Reason R: The chemicals in radioactive liquid wastes are hazardous in nature.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052931625. 1

21052931626. 2

21052931627.3

21052931628. 4

Question Number : 107 Question Id : 2105298047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: The risks from radioactive liquid wastes are caused under decontaminaticn,

solidification and disposal procedures.
Reason R: The chemicals in radioactive liquid wastes are hazardous in nature.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:



21052931625. 1
21052931626. 2
21052931627. 3

21052931628. 4

Question Number : 108 Question Id : 2105298048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Hazardous materials such as lead, mercury, and hexavalent chromium in one
form or other are present in electronic wastes.

Statement II: Landfilling of electronic waste is the best operation from the environmental
viewpoint.

In light of the above statements, choose the correct answer from the opticns given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options :

210529316209. 1
21052931630. 2
21052931631.3

21052931632. 4

Question Number : 108 Question Id : 2105298048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Given below are two statements:

Statement I: Hazardous materials such as lead, mercury, and hexavalent chromium in one

form or other are present in electronic wastes.

Statement II: Landfilling of electronic waste is the best operation from the environmental

viewpoint.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options :

21052931629. 1
21052931630. 2
21052931631. 3

21052931632. 4

Question Number : 109 Question Id : 2105298049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Provision of Extended Producer's Responsibility (EPR) of producer, importer and brand owner
for collecting back the waste generated by their product has been in the

A, Solid Waste Management Rules, 2016

B. Construction & Demolition Waste Management Rules, 2016
C. Plastic Waste Management Rules, 2016

D. E-waste (Management) Rules, 2016

E. Biomedical Waste Management Rules, 2016

Choose the correct answer from the options given below

1. A B, D only
2.B,C Donly
3.C,D, Eonly
4. A B, C Donly

Options :

21052931633. 1
21052931634. 2
21052931635. 3

21052931636. 4

Question Number : 109 Question Id : 2105298049 Question Type : MCQ Option Shuffling : No
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Provision of Extended Producer's Responsibility (EPR) of producer, importer and brand owner
for collecting back the waste generated by their product has been in the

A, Solid Waste Management Rules, 2016

B. Construction & Demolition Waste Management Rules, 2016
C. Plastic Waste Management Rules, 2016

D. E-waste (Management) Rules, 2016

E. Biomedical Waste Management Rules, 2016

Choose the correct answer from the options given below

1. A B, D only
2.B,C Donly
3.C,D, Eonly
4. A B, C Donly

Options :

21052931633. 1
21052931634. 2
21052931635. 3

21052931636. 4

Question Number : 110 Question Id : 2105298050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: Increasing the productivity of forests to meet essential needs is one of the major
objectives of the National Forest Policy, 1988.

Statement II: According to the National Forest Policy,1988, no forest-based enterprise should

provide employment to local people on a priority basis.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options :

21052931637. 1
21052931638. 2
21052931639. 3

21052931640. 4
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Given below are two statements:

Statement I: Increasing the productivity of forests to meet essential needs is one of the major
objectives of the National Forest Policy, 1988.

Statement lI: According to the National Forest Policy,1988, no forest-based enterprise should

provide employment to local people on a priority basis.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

21052931637. 1



21052931638. 2
21052931639. 3

21052931640. 4

Question Number : 111 Question Id : 2105298051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: Covariance between two variables X and Y determines whether the correlation
between them is negative or positive.

Statement II: The product of the standard deviation of two variables X and Y can be both
positive or negative.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options:

21052931641. 1
21052931642. 2
21052931643.3

21052931644. 4

Question Number : 111 Question Id : 2105298051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
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Given below are two statements:

Statement I: Covariance between two variables X and Y determines whether the correlation
between them is negative or positive.

Statement II: The product of the standard deviation of two variables X and Y can be both
positive or negative.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is carrect

Options :

21052931641. 1
21052931642. 2
21052931643. 3
21052931644. 4

Question Number : 112 Question Id : 2105298052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding skewness:

A. For a positively skewed distribution, the value of the mean is the greatest among the mean,
median and mode.

B. For a negatively skewed distribution, the median is greater than the mean.
C. Karl Pearson's coefficient of skewness always lies between the limits +1

D. Bowley's coefficient of skewness always lies between the limits +1

Choose the correct answer from the options given below

1. A B and Conly
2.B, Cand D only
3.A C and D only
4. A B and D only



Options :

21052931645. 1
21052931646. 2
21052931647.3
21052931648. 4
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Consider the following statements regarding skewness:

A, For a positively skewed distribution, the value of the mean is the greatest among the mean,
median and mode.

B. For a negatively skewed distribution, the median is greater than the mean.
C. Karl Pearson's coefficient of skewness always lies between the limits +1

D. Bowley's coefficient of skewness always lies between the limits +1

Choose the correct answer from the options given below

1. A B and C only
2.B,Cand D only
3.A, C and D only
4. A B and D only

Options :

21052931645. 1
21052931646. 2
21052931647.3
21052931648. 4

Question Number : 113 Question Id : 2105298053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following statements about normal distribution:

A. This distribution is applicable to continuous random variables.
B. It is a symmetrical distribution.

C. The mean of a standard normal distribution is 1.

D. The standard deviation of the standard normal distribution is 1.
Choose the correct answer from the options given below:

1. A, B, and C only
2. B, C, and D only
3. A, B, and D only
4. A C and D only

Options :

21052931649. 1
21052931650. 2
21052931651. 3

21052931652. 4

Question Number : 113 Question Id : 2105298053 Question Type : MCQ Option Shuffling : No
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Consider the following statements about normal distribution:

A. This distribution is applicable to continuous random variables.
B. It is a symmetrical distribution.

C. The mean of a standard normal distribution is 1.

D. The standard deviation of the standard normal distribution is 1.
Choose the correct answer from the options given below:

1. A B, and C only
2. B, C, and D only
3. A B, and D only
4. A C and D only



Options :

21052931649. 1
21052931650. 2
21052931651. 3
21052931652. 4

Question Number : 114 Question Id : 2105298054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following statements pertaining to sampling theory:

A. The standard deviation of the sampling distribution of a statistic is known as its standard

error.

B. The precision of the sample estimate of some population parameter is the reciprocal of the
standard error of the sampling distribution of the estimate.

C. A Type - | error in hypothesis testing occurs when we accept a wrong null hypothesis.
D. A Type - |l error in hypothesis testing occurs when we reject a true null hypothesis.
Choose the correct answer from the options given below

1. A and B only
2.B and C only
3. Aand C only
4. Cand D only

Options :

21052931653. 1
21052931654. 2
21052931655. 3
21052931656. 4

Question Number : 114 Question Id : 2105298054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Consider the following statements pertaining to sampling theory:

A. The standard deviation of the sampling distribution of a statistic is known as its standard

error.

B. The precision of the sample estimate of some population parameter is the reciprocal of the
standard error of the sampling distribution of the estimate.

C. A Type - | error in hypothesis testing occurs when we accept a wrong null hypothesis.
D. A Type - |l error in hypothesis testing occurs when we reject a true null hypothesis.
Choose the correct answer from the options given below

1. A and B only
2.B and C only
3.Aand Conly
4. Cand D only

Options :

21052931653. 1
21052931654. 2
21052931655. 3

21052931656. 4

Question Number : 115 Question Id : 2105298055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I (Instrument) with List Il (Function)

List | List Il
Instrument Function
A.Campbell-Stokes

. To measure the visible light flux
Recorder

: ll. To measure total solar irradiance on a plain
B.Pyraheliometer

surface
C.Pyranometer lll. To measure direct beam solar irradiance
D.Lux meter I\V. To measure the sunshine duration

Choose the correct answer from the options given below

TA-LEBE-I,C-1I,D-1V
ZA-LB-ILC-U,D-1IV
JA-WVB-ILC-1I,D-I
4A-IV,B-1,C-1LD-1I
Options :

21052931657. 1
21052931658. 2
21052931659. 3

21052931660. 4
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Match List I (Instrument) with List Il (Function)

List | List Il
Instrument Function
A.Campbell-Stokes

. To measure the visible light flux
Recorder

: ll. To measure total solar irradiance on a plain
B.Pyraheliometer

surface
C.Pyranometer lll. To measure direct beam solar irradiance
D.Lux meter I\V. To measure the sunshine duration

Choose the correct answer from the options given below

TA-LEBE-I,C-1I,D-1V
ZA-LB-ILC-U,D-1IV
JA-WVB-ILC-1I,D-I
4A-IV,B-1,C-1LD-1I
Options :

21052931657. 1
21052931658. 2
21052931659. 3

21052931660. 4

Question Number : 116 Question Id : 2105298056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I ( Analysis) with List Il (Analytical techniques)

List | List 11
5 Analytical
Analysis .
techniques

A. To analyze organic compounds of pollutants |I. SEM

B. To analyze the elemental composition of g
pollutants '

C. Morphological analysis of pollutants II. FTIR

D. To analyze crystalline materials of pollutants  |IV. XRF

Choose the correct answer from the options given below

T.A-ULB-ILC-1V,D—I
ZA-IWVB-INLC-I,D-I1
JA-ILB-IV,C-I,D-1
4 A-IV,B-1I,LC-1l,D-1
Options :

21052931661. 1
21052931662. 2
21052931663. 3

21052931664. 4
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Match List I ( Analysis) with List Il (Analytical techniques)

List | List 11
5 Analytical
Analysis .
techniques

A. To analyze organic compounds of pollutants |I. SEM

B. To analyze the elemental composition of g
pollutants '

C. Morphological analysis of pollutants II. FTIR

D. To analyze crystalline materials of pollutants  |IV. XRF

Choose the correct answer from the options given below

T.A-ULB-ILC-1V,D—I
ZA-IWVB-INLC-I,D-I1
JA-ILB-IV,C-I,D-1
4 A-IV,B-1I,LC-1l,D-1
Options :

21052931661. 1
21052931662. 2
21052931663. 3

21052931664. 4

Question Number : 117 Question Id : 2105298057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 (Organism) with List Il (Ecosystem structure components)

List | List-lI

Organism Ecosystem structure components
A. Earthworms . Producer

B. Grass Il. Secondary carnivore

C. Frogs lll. Primary carnivore

D. Hawks IV, Detrivore

Choose the correct answer from the options given below

T.A-IWV,B-LC-Il,D-IlI
ZA-ILB-1ILC-1IV,D-I
JA-ILB-IV,C-I,D-1
4 A-IV,B-1,C-1ll,D-1
Options :

21052931665. 1
21052931666. 2
21052931667. 3

21052931668. 4

Question Number : 117 Question Id : 2105298057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List 1 (Organism) with List Il (Ecosystem structure components)

List | List-lI

Organism Ecosystem structure components
A. Earthworms . Producer

B. Grass Il. Secondary carnivore

C. Frogs l1l. Primary carnivore

D. Hawks IV, Detrivore

Choose the correct answer from the options given below

1LA-IWE-LC-1,D-IlI
2 A8 -G B
JA-IILB-V,C-1,D-1
4 A-IVBE-LC-IIL,D-1



Options :

21052931665. 1
21052931666. 2
21052931667. 3
21052931668. 4

Question Number : 118 Question Id : 2105298058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0

Match List I (Elements) with List Il (Characteristics)

List | List 11

Elements Characteristics

A. Lithophile . Occur mainly as sulfides

B. Chalcophile  |ll. Gaseous elements do not generally form
compounds

C. Siderophile  |lll. Occur mainly in oxygen compounds

D. Atmophile IV. Occur mainly as native elements

Choose the correct answer from the options given below:

TA-LE-I,LC-1I,D-1IV
ZA-LB-W,C-1,D-1
ZA-ILB-W,C-1,D-1I
4 A-ILB-1L,C-IV,D-1
Options :

21052931669. 1
21052931670. 2
21052931671.3

21052931672. 4
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Match List I (Elements) with List Il (Characteristics)

List | List 11

Elements Characteristics

A. Lithophile . Occur mainly as sulfides

B. Chalcophile  |ll. Gaseous elements do not generally form
compounds

C. Siderophile  |lll. Occur mainly in oxygen compounds

D. Atmophile IV. Occur mainly as native elements

Choose the correct answer from the options given below:

TA-LE-I,LC-1I,D-1IV
ZA-LB-W,C-1,D-1
ZA-ILB-W,C-1,D-1I
4 A-ILB-1L,C-IV,D-1
Options :

21052931669. 1
21052931670. 2
21052931671.3

21052931672. 4
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Match List I (Rock types) with List Il (Characteristics)

List | List-11

Rock types |Characteristics

A. Rudaceous |l. Rocks consisting mainly of silt and siltstones

Il. Rocks consisting mainly of gravels, pebbles, cobbles,
B. Arenaceous
and boulders

C. Silt rocks  |lll. Rocks consisting mainly of dust, mud, and clay

D.Argillaceous|lV. Rocks consisting mainly of sands

Choose the correct answer from the options given below

T.A-ILB-LC-IV, DIl
ZA-WB-ILLC-1L, D1l
JA-IWB-LC-1LD-1
4 A-ILB-IV,C-1,D-1l
Options :

21052931673. 1
21052931674. 2
21052931675. 3

21052931676. 4
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Match List I (Rock types) with List Il (Characteristics)

List | List-11

Rock types |Characteristics

A. Rudaceous |l. Rocks consisting mainly of silt and siltstones

Il. Rocks consisting mainly of gravels, pebbles, cobbles,
B. Arenaceous
and boulders

C. Silt rocks  |lll. Rocks consisting mainly of dust, mud, and clay

D.Argillaceous|IV. Rocks consisting mainly of sands

Choose the correct answer from the options given below

T.A-ILB-LC-IV, DIl
ZA-WB-ILLC-1L, D1l
JA-IWB-LC-1LD-1
4 A-ILB-IV,C-1,D-1l
Options :

21052931673. 1
21052931674. 2
21052931675. 3

21052931676. 4

Question Number : 120 Question Id : 2105298060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List 1 (Air pollutants) with List Il (Control Technique/Equipment)

List-1 List-I

Air pollutants Control Technique/Equipment
A.PM a5 . Selective catalytic reduction

B. SO; Il. Electrostatic precipitator

C. NOy, lil. Cyclone collectors

D.Coarse particulate matter V. Scrubber

Choose the correct answer from the options given below

TLA-LB-ILC-I,D-1IV
2ANLB-IV,C-1 D~
3A-LB-W,C-1I,D-1ll
4 A-IVBE-LC-IIL,D-1



Options :

21052931677. 1
21052931678. 2
21052931679. 3
21052931680. 4

Question Number : 120 Question Id : 2105298060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I (Air pollutants) with List Il (Control Technique/Equipment)

List-1 List-I

Air pollutants Control Technique/Equipment
A.PM s . Selective catalytic reduction

B. SO; . Electrostatic precipitator

C. NOy, lll. Cyclone collectors

D.Coarse particulate matter V. Scrubber

Choose the correct answer from the options given below

T.A-LE-I,LC-II,D-IV
ZAILB-IV,C-LD-1
JA-LB-IV,C-1I,D-1I
4 A-IV,B-1,C-1ll,D-1
Options :

21052931677. 1
21052931678. 2
21052931679. 3

21052931680. 4

Question Number : 121 Question Id : 2105298061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | (Atmospheric stability) with List 1l (Lapse Rate)

List-1 List-lI

Atmospheric stability Lapse Rate

A. Absolutely Stable l. ELR = DALR

B. Absolutely Unstable Il. ELR < DALR

C. Conditionally Unstable lil. ELR > DALR

D. Dry Neutral IV. SALR < ELR < DALR

Choose the correct answer from the options given below

T.ALB-1ILC-1,D-1IV
ZA-ILB-1ILC-1IV,D-I
JA-ILB-ILC-IV, D1
4A-IILB-LC-1,D-1IV
Options :

21052931681. 1
21052931682. 2
21052931683. 3

21052931684. 4

Question Number : 121 Question Id : 2105298061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | (Atmospheric stability) with List 1l (Lapse Rate)

List-1 List-lI
Atmospheric stability Lapse Rate

A. Absolutely Stable l. ELR = DALR
B. Absolutely Unstable Il. ELR < DALR
C. Conditionally Unstable lil. ELR > DALR

D. Dry Neutral

IV. SALR < ELR < DALR

Choose the correct answer from the options given below

TLAIILB-IILC-1,D-1IV
2 A8 -G B

TA-ILB-LC-IM, D1
A4AA-IILB-ILC-,D-IV




Options :

21052931681. 1
21052931682. 2
21052931683. 3
21052931684. 4

Question Number : 122 Question Id : 2105298062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I Statistical Test) with List Il (Applications)

List | List-11

Statistical test |Applications

A. y2-test . Testing the significance of difference of means

B. One-Way
ANOVA

. Testing the significance of a single mean

, lll.Testing the goodness of fit between theory and
C. Paired t-test

experiment

D. Z-test IV. Comparing more than two sample means

Choose the correct answer from the options given below

T.A-LE-I,LC-II,D-IV
ZA-ILB-1ILC-1IV,D-I
JA-ILB-IV,C-I,D-1
4 A-IV,B-1,C-1,LD-1I
Options :

21052931685. 1
21052931686. 2
21052931687. 3

21052931688. 4

Question Number : 122 Question Id : 2105298062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Match List | Statistical Test) with List 1l (Applications)

List | List-11

Statistical test Applications

A. y2-test . Testing the significance of difference of means
B. One-Way

Il.Testing the significance of a single mean
ANOVA

, lll.Testing the goodness of fit between theory and
. Paired t-test .
experiment

D. Z-test IV. Comparing more than two sample means

Choose the correct answer from the options given below

1LA-LB-ILC-M,D-IV
Z A0 B - L G-I D
3A-IILB-IV,C-1,D-1l
4A-IVB-LC-Il,D-1l
Options :
21052931685. 1
21052931686. 2
21052931687. 3

21052931688. 4

Question Number : 123 Question Id : 2105298063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I (Environmentally significant Days) with List Il (Dates)

List-1 List-II
Environmentally significant Days Dates

A. World Ozone Day .16 September
B.World Habitat Day Il. 21 March
C.World Forest Day lll. 5 October
D.World Water Day V. 22 March

Choose the correct answer from the options given below

T.A-IV,B-ILC-1,D-Il
ZAILB-1L,C-IV,D-1l
JA-LE-NLC-I,LD-IV
4 A-ILB-1L,C-IV,D-1
Options :

21052931689. 1
21052931690. 2
21052931691. 3

21052931692. 4

Question Number : 123 Question Id : 2105298063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I (Environmentally significant Days) with List Il (Dates)

List-1 List-II
Environmentally significant Days Dates

A. World Ozone Day .16 September
B.World Habitat Day Il. 21 March
C.World Forest Day lll. 5 October
D.World Water Day V. 22 March

Choose the correct answer from the options given below

1LA-IWE-N,C-,D-I
2ZALB-1LC-IV, D1l
LA-LB-NC-I,D-1¥
A4AA-IILB-L,LC-IV,D-1l



Options :

21052931689. 1
21052931690. 2
21052931691. 3
21052931692. 4

Question Number : 124 Question Id : 2105298064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List-1 (Processes) with List-1l (Energy Transfer)

List-1 List-11

Processes Energy Transfer

A.Conduction |l. Energy is transferred by motion of a fluid

B. Convection |Il. Energy is transferred in the form of electromagnetic
waves through a vacuum.

C. Radiation |lll. Energy is transferred between two points in a
material at different temperatures

D.Evaporation|lV. Energy is lost through a phase change

Choose the correct answer from the options given below

T.AJNLB-1L,C-1l,D-1V
ZAILB-IV,C-1IIlLD-1
JA-ILB-IV,C-1l,D-1
4 A-ILB-1,C-I,D-1IV
Options :

21052931693. 1
21052931694. 2
21052931695. 3

21052931696. 4

Question Number : 124 Question Id : 2105298064 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List-1 (Processes) with List-1l (Energy Transfer)

List-1 List-11

Processes Energy Transfer

A.Conduction |I. Energy is transferred by motion of a fluid

B. Convection |Il. Energy is transferred in the form of electromagnetic
waves through a vacuum.

C. Radiation |lll. Energy is transferred between two points in a
material at different temperatures

D.Evaporation|lV. Energy is lost through a phase change

Choose the correct answer from the options given below

T.ANLB-1L,C-1l,LD-1V
ZAILB-IV,C-1IlLD-1
JA-ILB-IV,C-1l,D-1I
4 A-ILB-1,C-I,LD-1IV
Options :

21052931693. 1
21052931694. 2
21052931695. 3

21052931696. 4

Question Number : 125 Question Id : 2105298065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A strategy favoured by r-selection is :

1. Higher proportional allocation to non-reproductive activities.

2. Living in environments imposing high-density independent mortality.
3. Living in environments imposing high-density dependent regulation.
4. Higher proportional allocation to reproductive activities.

Options :

21052931697. 1



21052931698. 2
21052931699. 3

21052931700. 4

Question Number : 125 Question Id : 2105298065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A strategy favoured by r-selection is :

1. Higher proportional allocation to non-reproductive activities.

2. Living in environments imposing high-density independent mortality.
3. Living in environments imposing high-density dependent regulation.
4. Higher proportional allocation to reproductive activities.

Options:

21052931697. 1

21052931698. 2

21052931699. 3

21052931700. 4

Question Number : 126 Question Id : 2105298066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



raditionally membranes have been classified based on the minimum size of the contaminant
that is excluded from passing through the particular membrane. Arrange the following in the
correct sequence of decreasing pore size

A. Reverse Osmosis

B. Nanofiltration

C. Microfiltration

D. Ultrafiltration

Choose the correct answer from the options given below

1.AB.CD
2D,CB A
3.CD B A
4D,CAB

Options :

21052931701. 1
21052931702. 2
21052931703. 3
21052931704. 4

Question Number : 126 Question Id : 2105298066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



raditionally membranes have been classified based on the minimum size of the contaminant
that is excluded from passing through the particular membrane. Arrange the following in the
correct sequence of decreasing pore size

A. Reverse Osmosis

B. Nanofiltration

C. Microfiltration

D. Ultrafiltration

Choose the correct answer from the options given below

1.AB.CD
2D,CB A
3.CD B A
4D,CAB

Options :

21052931701. 1
21052931702. 2
21052931703. 3
21052931704. 4

Question Number : 127 Question Id : 2105298067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For a given noise signal, what would be the correct order of noise indices in terms of

increasing values?

A Ly

B.Lsg

C. Ly

D. Lag

Choose the correct answer from the options given below

1.C<A<B=<D
2ZA<B=<C=<D
3D<C=B<A
4 D<B<A<C
Options :
21052931705. 1
21052931706. 2
21052931707. 3

21052931708. 4

Question Number : 127 Question Id : 2105298067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For a given noise signal, what would be the correct order of noise indices in terms of

increasing values?

A Ly

B.Lsg

C. Ly

D. Lag

Choose the correct answer from the options given below

1.C<A<B<D
ZA<B<C<D
3D<C«<B<A
4 D<B<A<C
Options :
21052931705. 1
21052931706. 2
21052931707. 3

21052931708. 4

Question Number : 128 Question Id : 2105298068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of steps involved in the development of a model.
A. Validation

B. Formulation

C. Identification

D. Solution

Choose the correct answer from the options given below

1.ABCD
2B, CD A
3.CB D A
4.C D B A



Options :

21052931709. 1
21052931710. 2
21052931711. 3
21052931712. 4

Question Number : 128 Question Id : 2105298068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of steps involved in the development of a model.
A. Validation

B. Formulation

C. Identification

D. Solution

Choose the correct answer from the options given below

1.ABCD
2B CDA
3.C,B, D A
4.C D, B A

Options :

21052931709. 1
21052931710. 2
21052931711.3
21052931712. 4

Question Number : 129 Question Id : 2105298069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and other is labelled as

Reason R

Assertion A: Plants generally reflect radiation highly in the near-infrared region of
the electromagnetic spectrum.

Reason R: Plant leaves generally contain high chlorophyll content.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

210529317131
21052931714. 2
21052931715.3

21052931716. 4

Question Number : 129 Question Id : 2105298069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and other is labelled as

Reason R

Assertion A: Plants generally reflect radiation highly in the near-infrared region of

the electromagnetic spectrum.
Reason R: Plant leaves generally contain high chlorophyll content.
In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options:

21052931713.1



21052931714. 2
21052931715. 3

21052931716. 4

Question Number : 130 Question Id : 2105298070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: One is labelled as Assertion A and other is labelled as
Reason R

Assertion A: Tropopause acts as a lid’ limiting both convection and transport from the
troposphere into the higher layers of the atmosphere.

Reason R: At tropopause height and at higher levels, the atmosphere is stable.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A'is false but R is true

Options:

21052931717. 1
21052931718. 2
21052931719.3
21052931720. 4

Question Number : 130 Question Id : 2105298070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One is labelled as Assertion A and other is [abelled as

Reason R

Assertion A: Tropopause acts as a 'lid’ limiting both convection and transport from the
troposphere into the higher layers of the atmosphere.

Reason R: At tropopause height and at higher levels, the atmosphere is stable.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052931717. 1
21052931718. 2
21052931719.3

21052931720. 4

Question Number : 131 Question Id : 2105298071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and other is labelled as

Reason R
Assertion A: Isomorphous substitution is the source of constant charges on soil silicate clays.

Reason R: Cations of comparable size substitute each other in respective tetrahedral and

octahedral sheets in silicate clays.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options:

21052931721.1



21052931722. 2
21052931723. 3

21052931724. 4

Question Number : 131 Question Id : 2105298071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and other is labelled as
Reason R

Assertion A: Isomorphous substitution is the source of constant charges on soil silicate clays.

Reason R: Cations of comparable size substitute each other in respective tetrahedral and
octahedral sheets in silicate clays.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A'is false but R is true

Options:

21052931721. 1
21052931722. 2
21052931723.3
21052931724. 4

Question Number : 132 Question Id : 2105298072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Yaw control used in wind turbine generator is a:

1. Microprocessor-based control unit

2. The mechanism to keep the rotor axis along wind direction.

3. The mechanism to keep the rotor axis perpendicular to wind direction.

4. Gear mechanism to control the speed of the rotor when wind speed is extremely high

Options :

21052931725. 1
21052931726. 2
21052931727.3

21052931728. 4

Question Number : 132 Question Id : 2105298072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Yaw control used in wind turbine generator is a:

1. Microprocessor-based control unit

2. The mechanism to keep the rotor axis along wind direction.

3. The mechanism to keep the rotor axis perpendicular to wind direction.

4. Gear mechanism to control the speed of the rotor when wind speed is extremely high

Options:

21052931725. 1
21052931726. 2
21052931727.3

21052931728. 4

Question Number : 133 Question Id : 2105298073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and other is labelled as

Reason R
Assertion A: Some countries are immune to the impacts of climate change

Reason R: The net contribution of some countries is less than 1% towards the global

CO; emissions as a whole.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052931729. 1
21052931730. 2
21052931731.3

21052931732. 4

Question Number : 133 Question Id : 2105298073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and other is labelled as

Reason R
Assertion A: Some countries are immune to the impacts of climate change

Reason R: The net contribution of some countries is less than 1% towards the global

CO5 emissions as a whole.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options:

21052931729.1



21052931730. 2
21052931731. 3

21052931732. 4

Question Number : 134 Question Id : 2105298074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: One is labelled as Assertion A and other is labelled as
Reason R

Assertion A: Solar and wind energy systems require quite large structures relative to power
produced.

Reason R: Energy flux densities associated with solar energy and wind energy are on average
small.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052931733. 1
21052931734. 2
21052931735.3
21052931736. 4

Question Number : 134 Question Id : 2105298074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One is labelled as Assertion A and other is [abelled as
Reason R

Assertion A: Solar and wind energy systems require quite large structures relative to power
produced.

Reason R: Energy flux densities associated with solar energy and wind energy are on average
small.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052931733. 1
21052931734. 2
21052931735.3
21052931736. 4

Question Number : 135 Question Id : 2105298075 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option :

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason
R

Assertion A: Hydrofluorocarbons (HFCs) and hydrochlorofluorocarbon (HCFCs) are used as
substitute compounds for chlorofluorocarbons (CFCs)

Reason R: HCFCs and HFCs are quite susceptible to reaction with OH radicals in the
troposphere

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

No



Options :

21052931737. 1
21052931738. 2
21052931739.3
21052931740. 4

Question Number : 135 Question Id : 2105298075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion 4 and other is labelled as Reason
R

Assertion A: Hydrofluorocarbons (HFCs) and hydrochlorofluorocarbon (HCFCs) are used as
substitute compounds for chlorofluorocarbons (CFCs)

Reason R: HCFCs and HFCs are quite susceptible to reaction with OH radicals in the
troposphere

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052931737. 1
21052931738. 2
21052931739.3
21052931740. 4

Question Number : 136 Question Id : 2105298076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and other is labelled as
Reason R

Assertion A: Regression analysis is suitable for two variables having a linear causal
relationship between them.

Reason R: The causal relationship between two variables is never curvilinear.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052931741. 1

21052931742. 2

21052931743. 3

21052931744. 4

Question Number : 136 Question Id : 2105298076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and other is labelled as
Reason R

Assertion A: Regression analysis is suitable for two variables having a linear causal
relationship between them.

Reason R: The causal relationship between two variables is never curvilinear.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:



21052931741.1
21052931742. 2
21052931743. 3

21052931744. 4

Question Number : 137 Question Id : 2105298077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements.

Statement I: Leslie's matrix population model is a discrete and age-independent model

Statement II: The first row in Leslie's projection matrix represents fertility

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

21052931745. 1
21052931746. 2
21052931747.3

21052931748. 4

Question Number : 137 Question Id : 2105298077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements.
Statement I: Leslie's matrix population model is a discrete and age-independent model
Statement II: The first row in Leslie’s projection matrix represents fertility

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is carrect

Options :

21052931745. 1
21052931746. 2
21052931747.3
21052931748. 4

Question Number : 138 Question Id : 2105298078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the environmental movements in chronoclogical order
A. Silent Valley struggle

B.Chipko movement

C. Appiko movement

D. Narmada Bachao movement

Choose the correct answer from the options given below

1.ABCD
2B ACD
3.A, DB, C
4 A B D C

Options:

21052931749. 1



21052931750. 2
21052931751. 3

21052931752. 4

Question Number : 138 Question Id : 2105298078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the environmental movements in chronoclogical order
A. Silent Valley struggle

B.Chipko movement

C. Appiko movement

D. Narmada Bachaoc movement

Choose the correct answer from the options given below

1. A B, C
2B A C
3. A D, B,
4 A B D,

D
D

—

™

Options:

21052931749. 1
21052931750. 2
21052931751.3

21052931752. 4

Question Number : 139 Question Id : 2105298079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Regarding Bharat Stage (BS-VI) vehicular emissions norms, choose the correct statements:
A. BS (VI) emission norms are equivalent to Euro (VI) norms.
B. BS (VI) norms require the up-gradation of engine and emission control technology

C. BS(VI) norms are applicable to all categories of the vehicles including two, three and four-

wheelers.
D. BS (V1) norms do not require any change in fuel quality
Choose the correct answer from the options given below

1. A B, C only
2.B,C Donly
3.A C Donly
4. A B CD-All

Options :

21052931753. 1
21052931754. 2
21052931755. 3

21052931756. 4

Question Number : 139 Question Id : 2105298079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Regarding Bharat Stage (BS-VI) vehicular emissions norms, choose the correct statements:
A. BS (VI) emission norms are equivalent to Euro (VI) norms.
B. BS (VI) norms require the up-gradation of engine and emission control technology

C. BS(VI) norms are applicable to all categories of the vehicles including two, three and four-

wheelers.
D. BS (V1) norms do not require any change in fuel quality
Choose the correct answer from the options given below

1. A B, C only
2.B,C Donly
3.A C Donly
4. A B, C D-All

Options :

21052931753. 1
21052931754. 2
21052931755. 3

21052931756. 4

Question Number : 140 Question Id : 2105298080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following atmospheric constituents have a negative radiative forcing?
A. Tropospheric ozone

B. Stratospheric ozone

C. Sulphate Aerosol

D. Nitrous oxide

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. Cand D only
4. A and D only



Options :

21052931757. 1
21052931758. 2
21052931759. 3

21052931760. 4

Question Number : 140 Question Id : 2105298080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following atmospheric constituents have a negative radiative forcing?
A. Tropospheric ozone

B. Stratospheric ozone

C. Sulphate Aerosol

D. Nitrous oxide

Choose the correct answer from the options given below

1. A and B only

2. B and C only

3. Cand D only
4. A and D only
Options :
21052931757. 1
21052931758. 2
21052931759. 3

21052931760. 4

Sub-Section Number : 2
Sub-Section Id : 210529307
Question Shuffling Allowed : Yes

Question Id : 2105298081 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

The colour photograph of Earthrise, taken by Apollo 8 astronaut William A. Anders on
December 24, 1968, is a powerful and eloguent image. One leading environmentalist has
rightfully described it as "the most influential environmental photograph ever taken". Inspired
by the photograph, economist Kenneth E. Boulding summed up the finite nature of our planet
as viewed in the context of the vast expanse of space in his metaphor "Spaceship Earth”. What
had been perceived throughout human histery as a limitless frontier had suddenly become a
tiny sphere: limited in its resources, crowded by an ever-expanding human population, and
threatened by our use of the atmosphere and the oceans as repositories for our consumptive
wastes.

Sub questions

Question Number : 141 Question Id : 2105298082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Perception of the planet Earth before 1968 was that it had

1. Infinite resources

2. Limited resources

3. Finite carrying capacity
4, Scarce resources
Options :

21052931761. 1
21052931762. 2
21052931763. 3

21052931764. 4

Question Number : 142 Question Id : 2105298083 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Carrying capacity of the Earth is threatened by
A. Human population explosion

B. Irrational use of atmosphere

C. Dumping of consumptive wastes in the ocean

D. Development of space technology

1. A, Cand D only
2. B, Cand D only
3. A Band Conly
4. A B and D only

Options :

21052931765. 1
21052931766. 2
21052931767. 3

21052931768. 4

Question Number : 143 Question Id : 2105298084 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Perception about the planet Earth is that, it is a

1. Tiny life support system

2. Vast life support system

3. Vast expanse of space

4. Limitless frontier in its extent

Options :

21052931769. 1
21052931770. 2
21052931771.3

21052931772. 4



Question Number : 144 Question Id : 2105298085 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The metaphor “Spaceship Earth” was used to described the Earth as

1. Tiny sphere in the vast universe

2. Repository of natural resources

3. Consisting of modern space infrastructure
4. Unmanned spacecraft

Options:

21052931773. 1
21052931774. 2
21052931775.3

21052931776. 4

Question Number : 145 Question Id : 2105298086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Inference of the passage is that the Earth is an ecosystem of

1. Infinite carrying capacity

2. Infinite resources for exploitation

3. Finite carrying capacity

4. Unlimited power of self-sustenance
Options:

21052931777. 1

21052931778. 2

21052931779. 3

21052931780. 4

Question Id : 2105298081 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

The colour photograph of Earthrise, taken by Apollo 8 astronaut William A. Anders on
December 24, 1968, is a powerful and eloguent image. One leading environmentalist has
rightfully described it as "the most influential environmental photograph ever taken". Inspired
by the photograph, economist Kenneth E. Boulding summed up the finite nature of our planet
as viewed in the context of the vast expanse of space in his metaphor "Spaceship Earth”. What
had been perceived throughout human histery as a limitless frontier had suddenly become a
tiny sphere: limited in its resources, crowded by an ever-expanding human population, and
threatened by our use of the atmosphere and the oceans as repositories for our consumptive
wastes.

Sub questions

Question Number : 141 Question Id : 2105298082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Perception of the planet Earth before 1968 was that it had

1. Infinite resources

2. Limited resources

3. Finite carrying capacity
4, Scarce resources
Options :

21052931761. 1
21052931762. 2
21052931763. 3

21052931764. 4

Question Number : 142 Question Id : 2105298083 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Carrying capacity of the Earth is threatened by
A. Human population explosion

B. Irrational use of atmosphere

C. Dumping of consumptive wastes in the ocean

D. Development of space technology

1. A, Cand D only
2. B, Cand D only
3. A Band Conly
4. A B and D only

Options :

21052931765. 1
21052931766. 2
21052931767. 3

21052931768. 4

Question Number : 143 Question Id : 2105298084 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Perception about the planet Earth is that, it is a

1. Tiny life support system

2. Vast life support system

3. Vast expanse of space

4. Limitless frontier in its extent

Options :

21052931769. 1
21052931770. 2
21052931771.3

21052931772. 4



Question Number : 144 Question Id : 2105298085 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The metaphor “Spaceship Earth” was used to described the Earth as

1. Tiny sphere in the vast universe

2. Repository of natural resources

3. Consisting of modern space infrastructure
4. Unmanned spacecraft

Options:

21052931773. 1
21052931774. 2
21052931775.3

21052931776. 4

Question Number : 145 Question Id : 2105298086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Inference of the passage is that the Earth is an ecosystem of

1. Infinite carrying capacity

2. Infinite resources for exploitation

3. Finite carrying capacity

4. Unlimited power of self-sustenance
Options:

21052931777. 1

21052931778. 2

21052931779. 3

21052931780. 4

Sub-Section Number : 3

Sub-Section Id : 210529308



Question Shuffling Allowed : Yes

Question Id : 2105298087 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the given passage and answer the questions that follow

The fermentation products prior to 1900 AD were confined to potable alcohol and vinegar.
However, the first true large-scale breweries date from the 1700s AD when wooden vats of
1500 barrels capacity were introduced. By the mid-1800s AD, the role of yeasts in alcohol
fermentation had been demonstrated independently by Cagniard-Latour, Schwann and
Kutzing but it was Louis Pasteur who convinced the scientific world of the obligatory role of
micro-organisms in the process. During the 1800s AD, Hansen started his pioneering work for
isolating and propagating single yeast cells to produce pure culture. However, many
traditional ale-producing breweries still use mixed yeast cultures. Vinegar was originally
produced by leaving wine in shallow bowls or partially filled barrels where it was slowly
oxidized to vinegar by the development of natural flora. The appreciation of the importance of
air in the process led to the development of the 'generator’. Between the years, 1900 AD and
1940 AD, the most important advances were the development in the baker's yeast, solvent
fermentation, citric acid production and lactic acid production.

Sub questions

Question Number : 146 Question Id : 2105298088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Vinegar is a product of

1. Solvent fermentation

2. Alcoholic fermentation
3. Aercbic fermentation

4. Anaerobic fermentation

Options :

21052931781.1



21052931782. 2
21052931783. 3

21052931784. 4

Question Number : 147 Question Id : 2105298089 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Many traditional ale-producing breweries use

1. Yeast pure culture

2. Mixed culture of bacteria
3. Mixed culture of yeasts
4. Bakers' yeast

Options :

21052931785. 1
21052931786. 2
21052931787. 3

21052931788. 4

Question Number : 148 Question Id : 2105298090 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following first developed the method of producing a pure culture of yeasts?

1. Cagniard-Latour

2. Hansen

3. Louis Pasteur

4. Schwann and Kutzing

Options :
21052931789. 1
21052931790. 2

21052931791. 3



21052931792. 4

Question Number : 149 Question Id : 2105298091 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In pre-1900s AD, which types of vessels were used in large-scale breweries?

1. Wooden

2. Copper

3. Steel

4. Mechanical fermenters

Options :

21052931793. 1
21052931794. 2
21052931795. 3

21052931796. 4

Question Number : 150 Question Id : 2105298092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is one of the oldest products of fermentation technology?

1. Bakers' yeast
2. Yeast biomass
3. Lactic acid

4, Alcohol
Options :
21052931797. 1
21052931798. 2
21052931799. 3

21052931800. 4



Question Id : 2105298087 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the given passage and answer the questions that follow

The fermentation products prior to 1900 AD were confined to potable alcohol and vinegar.
However, the first true large-scale breweries date from the 1700s AD when wooden vats of
1500 barrels capacity were introduced. By the mid-1800s AD, the role of yeasts in alcohol
fermentation had been demonstrated independently by Cagniard-Latour, Schwann and
Kutzing but it was Louis Pasteur who convinced the scientific world of the obligatory role of
micro-organisms in the process. During the 1800s AD, Hansen started his pioneering work for
isolating and propagating single yeast cells to produce pure culture. However, many
traditional ale-producing breweries still use mixed yeast cultures. Vinegar was originally
produced by leaving wine in shallow bowls or partially filled barrels where it was slowly
oxidized to vinegar by the development of natural flora. The appreciation of the importance of
air in the process led to the development of the 'generator’. Between the years, 1900 AD and
1940 AD, the most important advances were the development in the baker's yeast, solvent
fermentation, citric acid production and lactic acid production.

Sub questions

Question Number : 146 Question Id : 2105298088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Vinegar is a product of

1. Solvent fermentation

2. Alcoholic fermentation
3. Aercbic fermentation

4. Anaerobic fermentation

Options :

21052931781. 1
21052931782. 2
21052931783. 3



21052931784. 4

Question Number : 147 Question Id : 2105298089 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Many traditional ale-producing breweries use
J I

1. Yeast pure culture

2. Mixed culture of bacteria
3. Mixed culture of yeasts
4. Bakers' yeast

Options :

21052931785. 1
21052931786. 2
21052931787.3

21052931788. 4

Question Number : 148 Question Id : 2105298090 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following first developed the method of producing a pure culture of yeasts?

1. Cagniard-Latour

2. Hansen

3. Louis Pasteur

4. Schwann and Kutzing

Options :

21052931789. 1
21052931790. 2
21052931791.3

21052931792. 4



Question Number : 149 Question Id : 2105298091 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In pre-1900s AD, which types of vessels were used in large-scale breweries?

1. Wooden

2. Copper

3. Steel

4. Mechanical fermenters

Options :

21052931793. 1
21052931794. 2
21052931795.3

21052931796. 4

Question Number : 150 Question Id : 2105298092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is one of the oldest products of fermentation technology?

1. Bakers' yeast
2. Yeast biomass
3. Lactic acid

4, Alcohol
Options :
21052931797. 1
21052931798. 2
21052931799. 3

21052931800. 4



